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NEW QUESTION 1

- (Exam Topic 3)

Developer is working on a new feature and made changes on a branch named ‘branch-413667549a-new’. When merging the branch to production, conflicts
occurred. Which Git command must the developer use to recreate the pre-merge state?

A. git merge -no-edit
B. git merge -commit
C. git merge -revert
D. git merge -abort

Answer: D

Explanation:
https://www.git-tower.com/learn/git/ebook/en/command-line/advanced-topics/merge-conflicts

NEW QUESTION 2
- (Exam Topic 3)
Which TCP port is used to connect to a network device by using Telnet?

Answer: A

NEW QUESTION 3
- (Exam Topic 3)
What is a comparison of YAML and JSON?

A. YAML has a more consistent approach to representing data compared to JSON.

B. JSON does not support comments and YAML does.

C. YAML is a more verbose data structure compared to JSON.

D. JSON has more common usage in configuration management tools compared to YAML.

Answer: B
Explanation:

Reference: https://stackoverflow.com/questions/244777/can-comments-be-used-in-json
Can | use comments in JSON? No, JSON is a data-only format. Comments in the form //, #, or /* */, which are used in popular programming languages, are not
allowed in JSON. You can add comments to JSON as custom JSON elements that will hold your comments, but these elements will still be data.

NEW QUESTION 4
- (Exam Topic 3)
Which two commands download and execute an Apache web server container in Docker with a port binding 8080 in the container to 80 on the host? (Choose two.)

A. docker pull apache

B. docker run -p 8080:80 httpd
C. docker run -p 80:8080 httpd
D. docker pull httpd

E. docker pull https

Answer: CD

NEW QUESTION 5
- (Exam Topic 3)
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get_interface_info_by_ id{device id, headers=None, "‘request_parameters)  [source|
Returns list of interfaces by specified device,
Parameters
» device_id (basestring) - Device 1D.

» headers (dict) - Dictionary of HTTP Headers to send with the Request .

Returns

Retum type
MyDict
Raises
= TypeError - If the parameter types are incorrect.
» MalformedRequest - If the request body created is invalid.

= ApiError = if the DNA Center cloud returns an error.

* "“request_parameters - Additional request parameters (provides support for parameters that may be added in the future].

JSON response. Access the object’s properties by using the dot notation or the bracket notation.

using the Cisco DNA Center SDK. Not all options are used.

from dnacenteradk import DMACenterAPI
base_url = "heeps://10.9.11.226"

= "dad606c3-63ad-4ed4-8£35-cbfecTc2df04’

dnac = (username="cisco’, paasword='aecret’,

base urli=base url, version='"1.3.3", verify=Falae)

= [item|['port¥ame'] for item in

dnac. +get interface info by id(device id) ['response’]]

# Check the number of portas cn the device

print (f"The list of interfeaces contains {len(port_list)} items.")
§ Output
# The liat of interfaces contains 54 items.
router_id device id | |DNACenterAPI DNAC
port list routers devices
A. Mastered

B. Not Mastered
Answer: A

Explanation:

from dnacenteradk import DNACenterAPI
base_url = '"https://10.9.11.22%"

| device id |= 'da4606c3-63ad-4ed4-8f£35-6bfecTc2dfO4’

I
dnac = I| DNACenterAPI ][1.:::«::::3_1:1':=r cisco', pasaword='secret',

base url=base url, version='l1.3.3", verify=Falae)
| port list i= [item| 'port¥ame'] for item in
inu:,u devices .get_interface info by id(device id)|['respense']]

# Check the number of portas on the device
print (f'The list of interfaces contains {len(port_list})} items.")

# Cuzput
# The list cf interfaces contains 54 items.

e o Iy reee p—

_J-’ELIE_EI__-‘:_-_dH device id DNACenterAPI, DNAC I

I port list routers | devices |
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NEW QUESTION 6
- (Exam Topic 3)
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reguests

$ username and password

API USER NAME = “devnatuser”
API PASSWORD = cs.environ( ‘API PASSWORD' ]
reaquests.get ("hreps://api.cisco.com/end-service’, auth=(API USER NAME, API PASSWORD))

Refer to the exhibit. An engineer must authorize a REST API call. The API password is "Cisco123!". Which Bash command must be placed in the code to authorize
the call?

A. mkdir API_PASSWORD=Cisc0123!
B. set API_PASSWORD=Cisc0123!

C. cp API_PASSWORD=Cisco0123!

D. export API_PASSWORD=Cisc0123!

Answer: D

NEW QUESTION 7
- (Exam Topic 3)
What is a benefit of version control?

A. prevents two users from working on the same file
B. keeps track of all changes to the files

C. prevents the sharing of files

D. keeps the list of data types used in the files

Answer: B

NEW QUESTION 8

- (Exam Topic 3)

A developer is working on a new feature in a branch named 'newfeat123456789' and the current working primary branch is named 'prim987654321'. The developer
requires a merge commit during a fast forward

merge for record-keeping purposes. Which Git command must be used?

A. git merge --no-ff newfeat123456789

B. git commit --no-ff newfeat123456789
C. git add --commit-ff newfeat123456789
D. git reset --commit-ff newfeat123456789

Answer: A

NEW QUESTION 9

- (Exam Topic 3)

A developer completed the creation of a script using Git. Before delivering it to the customer, the developer wants to be sure about all untracked files, without
losing any information. Which command gathers this information?

A. git clean —n
B. git rm —f

C. gitclean —r
D. gitrm*

Answer: A

NEW QUESTION 10
- (Exam Topic 3)
Which function does a router provide to a network?

A. broadcast domain segmentation

B. unique host on a Layer 3 network

C. unigue hardware address for every node on a LAN
D. broadcast domain extension

Answer: B
NEW QUESTION 10
- (Exam Topic 3)

A developer has addressed a bug that was found in the production code of an application. A separate file named ‘bug427896191v_fix" has been created with the
changes to the code. Which Git command must be used to incorporate the bug fix into the production code?

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-901 dumps
https://www.2passeasy.com/dumps/200-901/ (406 New Questions)

@ 2passeasy

A. git rebase

B. git cat-file

C. git merge-file
D. git bisert

Answer: C

NEW QUESTION 11

- (Exam Topic 3)

Which Python function is used to parse a string that contains JSON data into a Python dictionary?
A. json.dumps()

B. json.to_json()

C. json.parse()

D. json.loads()

Answer: D

Explanation:

loads() function is present in python built-in 'json' module. This function is used to parse the JSON string.

NEW QUESTION 16
- (Exam Topic 3)
What is a benefit of using a code review process in application development?

A. accelerates the deployment of new features in an existing application
B. provides version control during code development

C. enables the quick deployment of new code

D. eliminates common mistakes during development

Answer: D

NEW QUESTION 21
- (Exam Topic 3)
How does edge computing analyze sensitive data in the context of privacy control?

A. locally instead of sending the data to the cloud for analysis
B. locally or on the cloud depending on the configuration

C. all at once by sending the data to the cloud

D. locally on each node, and then sends the data to the cloud

Answer: A

NEW QUESTION 23
- (Exam Topic 3)

import reguests
from reguests.auth impeort HTTPBasichuth
BRSE URL = 'he:ips://<IP ADDRESS or FQDN>'
AUTE_URL = '/dna/system/api/vl/auth/token’
s TOEEN = "<ICEKEN>'
headezs = {'X-Auth-Token': TOKEN, 'Content-Type': 'application/json’)
DEVICES COUNI URL = "/dna/intent/api/vl/network-device/ceount’
DEVICES URL = '/dna/intent/api/vi/network-device’
DEVICES BY ID URL = '/dna/intent/api/vl/neswork-device/’
def devices funciheadezs):
59 response = reguest=.get (BASE URL + DEVICES CQUNTI URL,
neaders = headers, verify=False)
return responae.json()['zesponse’]
def devices test (headers, query string params):
respense = reguests.get (BASE URL - DEVICES URL, headers = headers,
params ® guery string params, verify=False)
return response.dson() ['response’]
def devices infc(headers, device id):
c response T reguests.ge: (BASE_URL = DEVICES BY ID URL = gdevice ig,
headers = headers, verify=False)
return response.jsen() ['response’]
print (devices func(headers))
: print (devices test(headers, {}))
prins (devices_tes:(headers, {'hcstneme’': 'CSRiIRv-Ol.devnes.lecal'}l))
responss = davices test (headers, ‘placformid®s 'C9500-40X'1)
print (devices infeiheaders, zesponse [0l ['ad']))

Refer to the exhibit. An engineer prepares a script to automate workflow by using Cisco DNA Center APIs to display:
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total count of devices

list of the network devices

information of one device with a hostname filter

What is displayed in the final step after the Python script is executed?

A. information about a device of type C9500-40x.

B. filtered results by the hostname and the platformld C9500-40X
C. information about the test devices

D. list of devices with platformid C9500-40x

Answer: B

NEW QUESTION 27
- (Exam Topic 3)

CISCO INTERSIGHT Create Server Profile and Resources

Intreduction

Create Server Profile and Re...

reat f L.t Poli 5 x
Craiuk Sarvky Videdin Polly Create Server VMedia Policy
GET  Retrieve Server WMedis Policy...

Craate Sarver Baot Palicy hopsyfvesan inersighe.comiaplivl imedia/Podicies
1 Retriese Server Boot Policy by..

Creane Server NTP Policy

i i
6ET Retrieve NTP Policy by Moid HEADERS
fE s 01" Prafi_.
Create erver-01-Secver Pro Hceept application/isan
GET Resrieve ‘server-01° Server Pro
izati igrature {{Fupsigh]
Creste sarver-l Server Profi. Authorization Sigrature {{Ropsig)
GiT  Retrieve ‘server-02° Server Pr., Digest {{computed-digest))
Update vmedia/Profiles Profil.,
Date {{eurrans-dazel}
Updare Boot/PrecisionPolice..,
Updare NTP/Policies Profiles ... Content-Type applicationfson

Wit  Rerieve Server RackUnit Res..

Refer to the exhibit. Drag and drop the code from the bottom onto the box where the code is missing to construct a Python script by using the Cisco SDK. Not all

options are used.

import sys, json, argparcse
from intersight.intersight api_client import IntersightApiClient

-

from intersight.apis import asset device registration_api, asset device claim aps
result = dict(changed=Falae)

parser = argparse.ArgumentPazser|)

parser.add _argument(*-a', '--api_parama‘’, default='interaight_api_params.j=son’)
parser.add _argument{'-t', '--target_host', dezt="hoatname', reguired=True)
args = parser.pacse_args()

with open(args.api_params, 'r’) as api_file:

interaight _api params = json.load| I

api_instance = IntersightApiClient|

host=intersight api params=s([’ e

private_key=intersight_api_paramsj‘api_private_key_£file'],

api_key i1d=intersight_ap:i_params[’"api_key_1d4'],
}
api_handle = asset_device_registration_api.AssetDeviceRegistrationApi(api_instance)

kwargs = dict(filter="ConnectionStatus eq 'Connected'"®)

= aApl handle.asset device registrations get (=< ]

for device in api_result.resulta:
if device.device ip address([0] == args.hocstname:
api_handle = asset_device_claim_api.hAssetDeviceClaimfpi (api in=tance)
api_handle.asset device_claima moid _delete (moid=device.device_claim.moid)

reault['changed’'] = True
bBreak
kwargs args api_file api_key apl_base un result
api_result

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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impert sys, json, argparcse

reault = diect(changed=Falase)

parser = argparse.ArgumentParser()
parser.add _argument(*-a’

parser.add_argument({'-t',
args = parser.parse_args{)

fram interaight.intersight_api_client i r
from intersight.apis import asset device registration_api, asse

'=-api_parama‘’, def
--target_host', dest

mport IntersightApiClient

device_claim _api

anlt="intersight_api_ params.json”)
-

='hestname', reguired=True)

with open|(args.api_paramsa, ‘'r*) as api_file:
::t:r:lgh:_apl_pﬂraz: = qjson.load| I apifﬂe i
api_instance = IntersightApiClient|
hest=intersight api params(’ |apt_base_uﬂ 3

api_handie.asset device_claima
reault [ 'changed"'] = True
break

private_key=intersight_api_paramsj’
api_key id=intersight_api paramsa|'api key 1d4'],

api_private_key_£file'],

api_handle = asset_device_registration_api.RssetDeviceRegistrationRApi(api_instance)
kwargs = diect(filter="ConnectionStatus egq "Connected'"™)
_____ : p 1
I result = api_handle.asset_device_registrations_get (** hWEFQS "
tor device in api_result.results:
if devige.device ip addreas[0] == args.hostname:
api_handle = asset_device_claim_api.hAssetDeviceClaimApi (api in=tance)

moid delete (moid=device.device claim.moid)

—-—

P -

] _api_key |[api_base uri result

i v— R —

L __It:l.;hz}rés : [ "args ~ [ _api file_

| api_result

NEW QUESTION 30
- (Exam Topic 3)
What is a benefit of a CI/CD pipeline for infrastructure?

A. removes manual errors

B. enables manual steps

C. removes the need for operations
D. provides variety for deployments

Answer: A

NEW QUESTION 32
- (Exam Topic 3)

A developer plans to deploy a new application that will use an API to implement automated data collection from Webex with these requirements:
The application was created by using the request library. Requires HTTP basic authentication.

Provides data in JISON or XML formats.

Which Cisco DevNet resource helps the developer with how to use the API?

A. DevNet sandbox

B. API documentation

C. forums

D. DevNet code exchange

Answer: B

NEW QUESTION 37
- (Exam Topic 3)
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R ] [

Chent Server

Step 1 POST levenis

Step I GET imessages/<messagekss =

- Step 3 Reiponis Imettagew ame i sagelds
Step 4° GET Nheam-memberships Pteamid=<roarmio> =

Loop
-
Step & POST imessage
Text
- Step 6 Response '/message

Refer to the exhibit. Which code snippet represents the sequence.

A. @flask_app.route('/events', methods=('POST'])
def webex teams webhook events():
Json_data = request.json('data’]

responses = reguests.get (MES3AGE URL +
json_data['id'], headers=headers)

if response.json()['text'] == "Alert':

response = requests.get (TEAM MFMBFASHIPS URL,
headers~headers, params~params)

for infoc in response.json()['items']:
data = ('personld’: info|'personId'], ‘text’:
'Alert'}
response = regquests.post (MESSAGES URL,
headers=headers, params=params)
B. @flask_app.route('/events’, methods=['POST'])
def webex teams webhook events():
json_data = request.json['data’]
1f response.json()["text'] == "Alert':
response = requests.get (MESSAGE URL +
sscn_data('id'], headers=headers)

Iesponse = regquests.get (TEAM MEMBERSHIPI URL,
headers=headers, params=params)

for info in response.ison()['items']:
data = ('personld': info['personid'],
"text': "Alert')
response = rejquests.post (ME3S3AGES URL,
headers=headers, params=params)
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@flask app.route('/events', methoda=['POST"])
def webex_teams webhook_events|():

json_data = request.json|'data’]

response = ragquests.post (MESSAGE URL +
cson_data['id'], headers=headers) N

1f response.json() ['text'] == 'Alert’:

for 1nfc i1n response.json()['"items']:

response = regquests.get (TEAM MEMBERSHIFPS_URL,
headers=headers, params=params)
data = ('personld’': info['persﬁnId']. 'text':
*Alert')
Iesponse = requests.get (MESSAGES URL,
headers=headers, params=params)

D'Eflash_apg.rQute{'Ieventa', methods=["POST"'])
def webex teams webhook_events():
json_data = regquest.json|'data’]
résponse = regquests.get (TEAM MEMBER3SHIP3 URL,
headers=headers, params=params)
1f response.json()["text’'] == 'Alert':
response = requests.get (MESSAGE URL +
Sson _data{'id')], headers=headers)
for i1nfo in response.jscon()['items']:
data = ('personld': info['personld'], "text':
‘Alert’}
response = rejgquests.post (MESSAGES URL,
headers=headers, params params)
Answer: C

NEW QUESTION 38

- (Exam Topic 3)

An engineer needs to retrieve a list of locally available Firepower Threat Defense upgrade packages by using the Firepower Management Center REST API. The
engineer uses a GET request with the URL.:

lapi/ffmc_platform/vl/updates/upgradepackages/f413afeb-e6f6-75f4-9169-6d9bd49s625e

What does “f413afeb-e6f6-75f4-9169-6d9bd49s625e” represent?

A. container UUID
B. package UUID
C. domain UUID
D. object UUID

Answer: B

Explanation:

"GET upgradepackages Request Type: GET

Description: Retrieves a list of locally available Firepower Threat Defense upgrade packages, including major upgrades, maintenances release upgrades, and
hotfixes.

URL: /api/fmc_platform/v1/updates/upgradepackages

URL for GET by ID: /api/fmc_platform/v1l/updates/upgradepackages/{package_UUID}" Source:
https://www.cisco.com/c/en/us/td/docs/security/firepower/640/api/REST/Firepower_Management_Center_RES

NEW QUESTION 43
- (Exam Topic 3)
Which OWASP threat occurs when untrusted data is supplied as input to an interpreter as part of a command or query?

A. broken authentication
B. data exposure

C. injection

D. cross-site scripting

Answer: C
NEW QUESTION 48
- (Exam Topic 3)

An engineer must configure Cisco Nexus devices and wants to automate this workflow. The engineer will use an Ansible playbook to configure devices through
Cisco NX REST API. Before the code is run, which resource must be used to verify that the REST API requests work as expected?
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A. Cisco Open NX-OS

B. Cisco NX-OS SDK

C. Cisco Learning Labs

D. Cisco Code Exchange for Nexus

Answer: C

NEW QUESTION 50
- (Exam Topic 3)
What is a benefit of using model-driven programmability for infrastructure automation?

A. connected user tracking

B. infrastructure resource optimization
C. multiple device control protocols

D. device performance monitoring

Answer: C

NEW QUESTION 51
- (Exam Topic 3)
What is a feature of XML compared to other data formats?

A. It uses tags to define the structure.

B. It uses parenthesis for key-value pairs.

C. It uses indentation to define the structure.
D. It uses namespaces for list representation.

Answer: A
NEW QUESTION 55

- (Exam Topic 3)
Refer to the exhibit.

Firewall A Firewall B pr—
—— Incoming E
Incomingd-"”ﬂutgoing " ' ™ Dutgoing_l”’interiace
interface -I’i‘ interface - . interface -i'l
= I’f‘ \ " = "4 —
\ ) Server B
4 Mk ? 4
Switch A
E VPN Tunnel
= ll
TH =
Developer Server A

A developer can access the TLS REST API on server A, but cannot access the API on server B. The developer can ping server B. When the developer performs a
packet capture on the TLS REST API port on server B, the capture shows that the packet arrived and the server responded. What causes the issue?

A. Port 80 is blocked on the outgoing interface of firewall B.
B. Port 443 is blocked on the outgoing interface of firewall A.
C. Port 443 is blocked on the incoming interface of firewall B.
D. Port 80 is blocked on the incoming interface of firewall A.

Answer: C

NEW QUESTION 56
- (Exam Topic 3)
Why would a developer compare a current version of code to a previous version?

A. to provide the single source of truth
B. to troubleshoot code failures

C. to track who made a change

D. to aid in collaboration

Answer: B

NEW QUESTION 60

- (Exam Topic 3)

A developer writes an application that refines data in temporary secure file storage hosted on the public cloud. Data will be deleted after processing and does not

contain any private information. What is the advantage that a public cloud deployment provides to the developer?

A. high security with encryption
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B. ease in infrastructure management
C. flexible development
D. bespoke services

Answer: B

NEW QUESTION 65
- (Exam Topic 3)
Which protocol runs over TCP port 8307?

A. NETCONF
B. Telnet

C. RESTCONF
D. HTTP

Answer: A

NEW QUESTION 67
- (Exam Topic 3)

An engineer deploys a Cisco CSR 1000 V instance to a virtual machine. The engineer must output the device configuration in JSON format. Which protocol is used

for this task?

A. YANG

B. NETCONF
C. SNMP

D. RESTCONF

Answer: D

NEW QUESTION 69
- (Exam Topic 3)

An engineer prepares a set of Python scripts to interact with network devices. To avoid network performance issues, the engineer wants to run them in a test

environment. Which resource must be used to monitor the live execution of code in an always-available environment?

A. packet tracer
B. learning labs
C. sandbox

D. code exchange

Answer: C
NEW QUESTION 73
- (Exam Topic 3)

What is a capability of Ansible playbooks?

A. They execute scheduled tasks regularly.
B. They define the state for a device configuration.

C. They collect SNMP logs from networking devices.

D. They utilize the target device agent to execute.

Answer: A

NEW QUESTION 78
- (Exam Topic 3)
Refer to the exhibit.
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1 <routing xmlns="urn:ietf:params:xml:ns:yang:ietf-routing™>
2 <routing-instance>
3 <name>default</name>
4 <description>default-vrf [read-only]</description>
5 <routing-protocols>
€ <routing-protocol>
7 <type zmlns:ospf="urn:ietf:params:xml:ns:yang:ietf-
* ospf">ospf:ospivi</type>
8 <name>100</name>
9 <ospf xmlns="urn:ietf:params:xml:ns:yang:ietf-ospf">
10 <instance>
11 <af ¥xmlns:rt="urn:ietf:params:xml:ns:yang:ietf-
% routing">rt:ipvi</af>
12 <router-id>1.1l.1l.1</router-id>
13 <NsSr>
14 <enable>false</enable>
15 </nsr>
l& <auto-cost>
17 <enable>false</enable>
18 </auto-cost>
19 <redistribution
z xmlns="urn:ietf:params:xml:ns:yang:cisco-ospfi">
20 <rip/>
21 </redistribution>
22 </instance>
23 </ospf>
24 </routing-protocol=
25 </routing-protocols>
26 </routing-instance>
27 </routing>

What are two characteristics of the NETCONF response? (Choose two.)

A. ospf is defined by the ietf-ospf module.

B. ietf-ospf imports ietf-routing.

C. redistribution is a module of type cisco-ospf.
D. routing protocols is a list.

E. The main module is routing.

Answer: BC

NEW QUESTION 80
- (Exam Topic 3)
Which HTTP method is used by webhooks and notifies a listener about an event change?

A. PUT

B. POST
C. PATCH
D. GET

Answer: B

NEW QUESTION 81

- (Exam Topic 3)

A developer must test the performance and reliability of an application. After functional and load tests are run, the application crashes due to traffic spikes from
users. Which type of API constraint must be implemented to maintain reliability?

A. rate limiting
B. pagination

C. payload limits
D. filtering

Answer: A

NEW QUESTION 85

- (Exam Topic 3)

Which technology is responsible for matching a name to an IP address of an application running on a host?
A. firewall

B. proxy

C. load balancer

D. DNS

Answer: D

NEW QUESTION 86
- (Exam Topic 3)
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An engineer must make changes on a network device through the management platform API. The engineer prepares a script to send the request and analyze the
response, check headers, and read the body according to information inside response headers. Drag and drop the HTTP header values from the left onto the

elements of an HTTP response on the right.

184974

cache-control

no-store, must-revalidate

content-length

timeout=5, max=100

keep-a  ‘ve

application/json;charset=UTF-8

cont.ent-type

A. Mastered
B. Not Mastered

Answer: A

Explanation:

F

: 16974

no-store, must-revalidate

no-store, must-revalidate

timeout=5, max=100

application/json;charset=UTF-8

application/json;charset=UTE-§

NEW QUESTION 91
- (Exam Topic 3)

What is a characteristic of Waterfall compared to Agile software development method?

A. Waterfall focuses on continuous improvement, and Agile focuses on the design phase.
B. Waterfall separates the project development lifecycle into sprints, and Agile does not use cycles.

C. Waterfall specifies requirements before development begins, and Agile responds flexibly to changes in requirements.

D. Waterfall uses reviews with step by step approach, and Agile uses a serially phased approach.

Answer: C

NEW QUESTION 93
- (Exam Topic 3)
What is a capability of the AXL API?

A. It signs a user in to a phone that is configured for extension mobility.

B. It pulls logs for the Cisco Tomcat service.

C. It authenticates users who exist in Cisco Unified Communications Manager.
D. It provides support for HTTP and HTTPS communications.

Answer: C

NEW QUESTION 96
- (Exam Topic 3)
Refer to the exhibit.
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Server 1:

Server 2:

IP Address: IP Address:
10.10.20.10 10.10.30.10
Netmask: Netmask:
255,255.255.0 255.255.255.0

While developing a Cisco Webex bot, an application reaches the public IP address of the firewall, but traffic is forwarded to the IP address of server 1 instead of

the IP address of server 2. What causes this issue?

A. The proxy server that rewrites traffic is misconfigured.

B. The router is sending the traffic to server 1 instead of server 2.
C. The switch is forwarding IP traffic to the wrong VLAN.

D. NAT is misconfigured on the firewall.

Answer: D

NEW QUESTION 101
- (Exam Topic 3)

user@hostl:~/tmp$ cat Dockerfile
# Dockerfile to install tracerocute
FROM ubuntu

MAINTAINER User One (usercnefcisco.com)
RUN apt-get update && apt-get install traceroute

Refer to the exhibit. Drag and drop the Dockerfile contents from the left onto the functions on the right that create a container image to run traceroute to track

network path to specific targets. Not all options are used.

document author FROM ubuntu
command to execute MAINTAINER User One (useronedcisco.com)
Inializes a new bulld stage RUN apt-get update && apt-get Install raceroute
coples new fles or directories
sets the usend

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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e —

Inializes a new build stage

' command to execute

Initializes a new bulld stage

coples new files or directocies |

sets the usend

NEW QUESTION 106
- (Exam Topic 3)

document author

command to execute

A file in a local Git repository has been updated and issued the git add . command. The git diff command has been run to compare the changes to the previous

commit, but nothing shows. Which action identifies the problem?

A. Run the git add . command again in the correct subdirectory to ensure changes added to the staging area.
B. Run the git commit command before the differences are compared to receive the end state of the code.
C. Run the git status command to see the differences between current and previous code review stages.

D. Run the git diff --staged command to compare the code added to the staging area.

Answer: D

NEW QUESTION 111
- (Exam Topic 3)

A business needs to create a simulated environment that mimics a production infrastructure to make changes to the OSPF process and analyze the impact. What

should be used?

A. Cisco VIRL / Cisco CML

B. Cisco DevNet Sandbox labs
C. pyATS

D. Puppet

Answer: A

Explanation:

https://www.cisco.com/c/en/us/products/cloud-systems-management/modeling-labs/index.html

NEW QUESTION 112
- (Exam Topic 3)
Which IP service synchronizes the time across devices?

A. DNS
B. NTP
C. SNMP
D. NAT

Answer: B

NEW QUESTION 114

- (Exam Topic 3)

What is the function of an Ethernet switch in a networking environment?
A. to switch a frame from one port to another port based on IP address

B. to switch a frame from one port to another port based on MAC address
C. to provide IP addressing to connected hosts

D. to block unwanted traffic

Answer: B

NEW QUESTION 118
- (Exam Topic 3)
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import requests, j=on

url = https://sandboxdnac.cisco.com:443/dna/intent/api/vl/3daa70bdecd3b
headers = |
*x-auth-token': ‘'eyJhbGc ... yJbNE®,
'"Content-Type': "application/json’,
}
paylecad = |

"aettinga®: |
*"dhcpServer®: ["172.30.200.5%],
"dnsServer™: |
"domainName": "devnet.local"™,
"primarylpAddress®: "172.30.200.6%,
"secondaryIpAddress™: "172.30.200.7"},
"syslogServer™: ("ipAddresses™: (["10.255.0.1%], “"configureDnacIP™:

}
reaponse = reguests.request('POST', url, headers=headera, data=payload)
print ({reaponse.status_code)

True)

Refer to the exhibit. A developer writes a script to create a new network by using the Cisco DNA Center API. After running the script for the first time, the developer

observes that HTTP code 404 is printed to the console. Which action resolves the problem?

A. The x-auth-token value must be changed to a valid token.

B. The API URL must be changed with a valid URL.

C. The requested payload must be fixed to include missing parts.
D. Internal errors on the code of API server must be fixed.

Answer: B
NEW QUESTION 120

- (Exam Topic 3)
Drag and drop the API characteristics from the left onto the categories on the right.

The APl is seen as a function call. REST
There is communication between server and client.
it follows a resource-oriented model.
RPC
The API can be stateless.

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Graphical user interface, application Description automatically generated

NEW QUESTION 123
- (Exam Topic 3)

$§ find /home/user/backup -mtime +30 —-type f -print

$ find /home/user/backup -mtime +30 -type f -delete

Refer to the exhibit. An engineer is managing the network of an enterprise. The network is using a distributed deployment model. The enterprise uses database to
store logs. The current policy requires logs to be stored if changes are made to the infrastructure in any of the devices on the data centers. Which workflow is

being automated by the Bash script?

A. returning backup files that are older than 30 days

B. deleting backup files that are older than 30 days

C. configuring the directory to delete files automatically
D. automating deletion of all backup files every 30 days

Answer: B

NEW QUESTION 128
- (Exam Topic 3)
Refer to the exhibit.
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curl -i -k =X 'GET’
-H 'Accept: application/yang-data+json' \
-u 'cisco:cisco’

'httpa://172.18.110.64:443/zeatconf/data/Cisco-I08-XE-native:native/hostname'

HTTP GET

HTTP 401 Unauthorized

An administrator attempts to perform a GET operation by using the Cisco I0OS XE RESTCONF API to return the hostname of a device. The sequence diagram in
the exhibit illustrates the HTTP messages observed. Which change to the API request resolves the issue?

A. Remove the -H 'Accept: application/yang-data+json’ header.
B. Replace -u cisco:cisco parameter with -u ‘cisco:cisco’.

C. Change the request method from -X ‘GET’ to -X ‘POST".

D. Add the -H ‘Content-Type: application/yang-data+json’ header.

Answer: B

NEW QUESTION 133
- (Exam Topic 3)

A company deploys an application via containers in its local data center. As soon as the application goes into production, it starts to crash at specific hours of the
day. After investigation, it is concluded that the crashes are due to too many users accessing the application simultaneously. The spikes must be addressed and
allow for future growth without discarding the investment already made. Which deployment model must be used?

A. hybrid cloud
B. edge

C. private cloud
D. public cloud

Answer: A

NEW QUESTION 136
- (Exam Topic 3)
Which action do webhooks enable an application to perform?

A. Increase the request rate limit.

B. Populate the application with restricted data.
C. Receive real-time data.

D. Implement a push model.

Answer: D
Explanation:

Simplifying the wording: Webhook enables the app to ( push or receive real time)

NEW QUESTION 141
- (Exam Topic 3)

. The clients should receive real time but the app pushes.

L. |

HTTPS/1.1

Date:

01l Created

Tue, 0B
example-server

-
-

m oy

Nov
Aerver:

- - .
LOoCaTion:

https://example.com/restcont

example-jukebox/library/dogbr
Last Modified: Tue 08 Nov 2020 09:37:27
ETag: "slB8/8l.4t4c”™

it

]

0
< L.
=1

of*

a
e
G

®
®

Refer to the exhibit. Which RESTCONF request results in this response?
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GET /restconf/data/example-jukerox:jukebox/_iorary HTTP/1.1
Host: examp_e.Zom
Content-Type: app_-_cat_on/vang-data-json
“"Example-jukepox:dogoresd”
“nams" “"Austral-_an Catt_e Dog
B. Ty . ; . T & i3
CORKFIG /restconf/data/examo_e-jukepox:jukepox/__brary HTTP/1.1
Host: sexample.com
Content-Type: aprlication/vang-data-json
"Examp_ e-jukepox:acghreed”
"name" "Zustralian Cattle Dog
PUT /restconf/data/example-jukebox:jukebox/library HITP/1.1
Host: exXamo_e.com
Content-Tyoe: ave_ication/yang-aata—json
“Examp_e-Jjukebox:dogbresd”
"name” : MRustralian Catt_= Dog
D. _ 2 : . ; % 4 3. ¥
POST /restconf/data/example-jukebox:jukebox/library HTTE/1.1
Host: example.com
Content-Type: application/vang-data-+jscon
“"Example:cogbreea” {
“name” : “Australian Cattle Dog
T
4
J'.
Answer: D

NEW QUESTION 143
- (Exam Topic 3)
Drag and drop the code from the bottom onto the box where the code is missing to complete the error path scenario. Not all options are used.
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import pytest
class Player:
def __init__(self, name):
self.name = name

def set_rating(self, zatingl:
if rating or rating is int{0):
raise valueError( ' rating is invalid', rating)
else:

TeEtUrn L-ue
alse:

rerurn Palse
Bpytest.fixture

def player():
player = Player('Usez One’)
yield player
del player
Bpytest.mark.usefixtures('player”)
class TestErrorPathSetRating:
def test_add higher rating(self, player):
with pytest.raizsea(ValueErrer):
player.set_rating(l01l)
def_teat_add_invalid_rating(s=1lf, player):
with pyteat.raises(ValueError):

def_test_add_lcwer rating(self, playez):
with pytest.raises(ValueBrror):
player.set_rating(-1)

| player.set rating(D) || if rating != O: J
| plaver.set ralLling{2%) | |:: rabtitg or rating is int {fl}:]
if rating < 1 or rat‘ng > 100z | gelf.mating = rating ]
celi.zxating = Monc
A. Mastered
B. Not Mastered
Answer: A
Explanation:
import pytest
class Player:
def __inic__ _(melf, namea):
" =
self.zating = Nonc ]
def set_rating(self, rating):
Af zating or rating is int(0):
it rating < & or vating > IHU:I:
raise ValueError( zating is invalid', rating)

LR oo e e s e e s

return lTrue
elne:

return Falass=
Bpytest.fixture

def player():
player = Player(“User One')
yield player
del playez
Bpyteat . mark.usefixtures|'player”)
class TestErrcrPathSetRating:
def_test_add_higher_ rating(self, player):
with pytest.raises|(ValueError):
player.set_cating(l101)
def_teat_add_invalid _rating(self, player):
with pytest.raises(ValueError):
player.set_rating(D)
def_test_add_Jlcwer_rating(self, player}):
with pytest.raises(ValueError):
player.set_rating(-1)

| if ratzing != O:

1% rebling o rabting i: it |:'I:r:|

Ralft.rating — rating

seli.zating = Nope

NEW QUESTION 146
- (Exam Topic 3)
Drag and drop the characteristics from the left onto the corresponding categories on the right to compare RESTful and RPC APIs.
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Answer Area

stateless
cacelon-based
must use HTTP
sometimes uses HTTP
A. Mastered
B. Not Mastered
Answer: A
Explanation:
| RESTRU
| stateless
I — — stateless
sescion-based
_____________________ sometimes uses HTTP
must use HTTP Ta
session-based
sometimes uses HTTP
masst use HTTP

NEW QUESTION 150
- (Exam Topic 3)
What is a firehose webhook?

A. It collects data from third-party cloud APIs for custom applications.

B. It enables an application to receive real-time data from Cisco Webex.
C. It enables data to flow from the Cisco Webex API to a user’s application.

D. It sends a notification of any event for commonly used resources.

Answer: D

NEW QUESTION 154
- (Exam Topic 3)
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-—= fus¢ticna.py  2020-0%-26 14:26:25.000000000 0600
=== ped.py 2020=-09-4€ 14:35:20.000000000 =000
g -Zl.,7 =21.7 34
def prin: devices infeidevicesa):
$ Frzat 4, kocatname and sanagement IF
£ for item In devices:
- printiitem['2d’], ivem['hostname’], item|'managementiphrdoreass’
- printiitem)'2d"], stem['heatname'])
= $ Get Authent:icasticn togen
del ges_dnac_Jwt_tcoken(|
g9 -€€,% -%€,15 88
cesponse = get devicea _iot(headezs,
print_deviesa :-nfo(respcnae)
! = $ print devices i3t filtersd By hestaame
. = prins (" "aPrainting device _i5t firltezed by homtname ..."°)
- query ating pacamas = {'hostname': "CERIEv-0l.devaest.Lccac
5 B seapcnae = get devices Iiatiheadecs, query at-ing paramas)
= print_devices_infc(zesponse)
& prant devices it filsersed By platfcrm Id
print{'\nPcigting device _ipt fi_tecec by poaticzm id...")
4 # quesy string params = {‘placformld’: "CESO0-40K')
- guesy stiing pazams = 'zoaticrmIid': "RIR-AFLLALN-A-FERT
sespense = get_devices list (headers, guery string _params)
print devices :infolresponse)

Refer to the exhibit. An engineer is comparing two files by using the unified diff format. Which cade snippet belongs to the new.py file?

A.
77 gquery_string params = {‘'platformId’:

‘AIR-AP1141N-A-KS9']

2l print(item(['1d'], item|'hostname']

24 print(item(['id*], item|['hostname’'],
item| ‘'managementIpAddress’])

€€ # print devices list filtered by
hostname

67 print('\nPrinting device list
filtered by hostname ...')

68 query._string._params = ('hostname’:
‘CSR1Kv-0l.devnet.local']

€9 response = get_devices_list
(headers, query_string_params)

70 print _devicea_info(response)

Answer: A

NEW QUESTION 155
- (Exam Topic 3)

A developer creates a program in which an object maintains a list of classes based on the observer pattern. The classes are dependent on the object. Whenever
the state of the object changes, it notifies the dependent classes directly through callbacks. Which advantage of the observer pattern offers minimum

dependencies and maximum flexibility between dependent objects or classes?
A. tight coupling

B. cohesion

C. mediation

D. loose coupling

Answer: D

NEW QUESTION 156
- (Exam Topic 3)
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Refer to the exhibit. An engineer runs a network that consists of Cisco Nexus devices. The network is distributed between data centers in different locations. The
switches are configured using standalone connections and a single point of failure. Which process is being automated by the Ansible playbook?

A. enabling HSRP on the nxos_rtr inventory host

B. enabling HSRP on the rtr-1a inventory host

C. executing HSRP configuration from the Ansible controller node
D. executing HSRP configuration from the srv-1a inventory host

Answer: B

NEW QUESTION 159
- (Exam Topic 3)

Drag and drop the code from the bottom onto the box where the code is missing to obtain a list of network devices by using the Cisco Meraki API. Not all options

are used.

import reguests

url = “https://api.meraki.com/api/v0l/ [:::::::] f{€REtfuIr—ﬂ}?f[::::::::]"

payload = {}
heaaders = |
*Accept’: YRS

]
[11]
i
0
o
b |
LF]
i
1]

p:int[:e&p@nse,text.[:::::::]i‘uth’]l

reguests.raguaest {“[::::::::]"; url, headers=headers, data=payload)

teams | !ne:.'.-.'-:r:.'ics| | r:iexri:eal | GET I | POET | |er.¢:ypt ! | encode

A. Mastered
B. Not Mastered

Answer: A

Explanation:

import reguests

url = “https://api.meraki.com/ap pi/v0/ | networks /i {networkId)}/ | devices |”

_| encode |

{*atf8" )}

paylocad = {}
headers = |
‘Accept’ @ e/
¥
response = reguests.reguest(™ GET ", url, headers=headers, data=payload)

| teams | [networks] | devices

Brprireiel]

NEW QUESTION 164
- (Exam Topic 3)
Which port does HTTPS use b

y default?
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D. 883

Answer: B

NEW QUESTION 169
- (Exam Topic 3)

A developer attempts to refactor and improve the application code. It is noticed that the code contains several pieces of key information that could be a security
threat if this code is accessible by those who are not authorized to this data. Which approach addresses the security concerns noticed by the developer?

A. Host the application code on a machine located in a secure data center.

B. Utilize environment variables for username and password detalils.

C. Rely on the security teams’ goodwill to not give access to those who do not need it.
D. Move the hardware that the application is deployed on to a secure location.

Answer: B

NEW QUESTION 174
- (Exam Topic 3)

Which platform has an API that has the capability to obtain a list of vulnerable software on user devices?

A. Cisco Advanced Malware Protection
B. Cisco Umbrella

C. Cisco Identity Services Engine

D. Cisco Firepower

Answer: A
NEW QUESTION 178

- (Exam Topic 3)
Refer to the exhibit.

import requests

base url = f"https://webexapis.com/vl/people"

"Accept": "application/json"

person email = 'customer@company.com’
url = f"{base url}?email={person email}"
response = redquests.request ("GET", url, headers=headers)
1f response.status code == 200 :
print (f"OK - Added {person email}"™)
else:

print (E"ERROR CODE {response.status code}")

A collaboration engineer has developed a script to automate the gathering of information by providing the email address of the individual. When the engineer tests

the script, a 401 error is received. Which command fixes the script?

A. Add "Authorization": "Bearer <WEBEX_TOKEN>" to the headers

B. Add "Authentication": "Basic <WEBEX_TOKEN>" in the base_url after "https://".
C. Add "<Authorization>:<password>@" in the base_url after "https://".

D. Add "Authentication™: "Bearer <WEBEX TOKEN>" to the headers

Answer: A

NEW QUESTION 180
- (Exam Topic 3)

import reguests
from requests.auth import HTTPBasichuth

uasr= "yser”™
pu#swﬁ:'d.: "PASSWORD"

teken=reguests.post("htrpa://<DNAC ADRESS>/dna/system/api/v1l/auth/teken’®,;

Refer to the exhibit. A developer must use a token to collect data from Cisco DNA Center API and prepares a Python script to send requests. Which line of code

needs to be placed on the snippet where the code is missing to obtain a token from the Cisco DNA Center API?

A. token=BasicAuth(‘user’,'password"))
B. auth=BasicAuth(‘user’,'password’))
C. auth=HTTPBasicAuth(user,password))

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-901 dumps

@ 2 P QsseaQs U https://www.2passeasy.com/dumps/200-901/ (406 New Questions)

D. token=HTTPBasicAuth(user,password))

Answer: C

NEW QUESTION 184
- (Exam Topic 3)
Refer to the exhibit.
module ietf-interface |
namespace "urn:ietf:params:xml:ns:yang:ietf-interfaces™;
prefix if;
import ietf-yang-types {
prefix yang:;
}
container interfaces-state |
list interface {
key "name";
leaf name |
type string;
b
leaf admin-status {
type enumeration |
enum up {
value 1;

}

enum down |
valus 2;

}

enum testing ({
value 3;

}

!
}

leaf 1f-index |
type int32 {
range "1..2147483&647"
4
}
container statistics |
leaf in-octets {
type yang:counteréd;
}
leaf in-unicast-pkts {
type yvang:countercd;
1

}

Which XML snippet has interface information that conforms to the YANG model?

A. Text Description automatically generatedB.| « i nterfares-state
xmlns="urn:letf:params:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:letf:params:xml:ns:yang:letf-interfaces">
<interface name="GigablitEthernetl">
<admin-status>l</admin-status>
<if-index>1</if-index>
<statistics>
<in-octets>4081€4820</in-octets>
<in-unicast-pkts>7280€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

Text

Description automatically generated
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<interfaces-state
xmlns="urn:ietf:iparams:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">
<interface>
<name>GigabitEthernetl</name>
<admin-status>up</admin-status>
<if-index>1</if-index>
<in-octets>408164820</in-octets>
<in-unicast-pkts>72806l</in-unicast-pkts>
</interface>
</interfaces-state>

B. Text Description automatically generated| i nterfaces-state
xmlns="urn:ietf:params:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:ietf:params:xml:ns:yang:ietf-interfaces">
<interface>
<name>GigabitEthernetl</name>
<admin-status>up</admin-status>
<if-index>l</if-index>
<statistics>
<in-octets>408164820</in-octets>
<in-unicast-pkts>72806€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>
C. Text Description automatically generated| «{ ntaerfaces—-state

xmlns="urn:letf:params:xml:ns:yang:ietf-interfaces”
xmlns:if="urn:letf:params:xml:ns:yang:letf-interfaces">
<lnterface>
<name>GiligabitEthernetl</name>
<admin-status>l</admin-status>>
<if-index>1</if-index>
<statistics>
<ln-octets>4081€4820</in-octets>
<in-unicast-pkts>7280€l</in-unicast-pkts>
</statistics>
</interface>
</interfaces-state>

Answer: C
Explanation:

https://datatracker.ietf.org/doc/id/draft-ietf-netmod-interfaces-cfg-01.txt <admin-status>up</admin-status>

NEW QUESTION 187
- (Exam Topic 3)
Refer to the exhibit.
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HTTP Request
curl http://hello-api.info -v

HTTP Response

Trying hello-app.info...
TCP_NODELAY set
Connected to hello-app.info (hello-app.info) port 80 (#0)
GET / HTTP/1.1
Host:hello-app.info
User-Agent: curl/7.64.1
Accept: */*

Vol WY Y % % N

f"ﬁll

HTTP/1.1 502 Bad Gateway

Server: nginx/1.14.0 (Ubuntu)

Date: Sat, 21 Nov 2020 11:09:54 GMT
Content-Type: text/html
Content-Length: 182

Connection: keep-alive

AT A S

A

A developer cannot reach the web application behind an NGINX load balancer. The developer sends a request to an application FQDN with cURL but gets an
HTTP 502 response. Which action solves the problem?

A. Fix errors in the server configuration, which is behind the load balancer.
B. Bring up the load balancer to the active state.

C. Fix errors in the cURL request sent by the client.

D. Change the default gateway on the load balancer to an active one.

Answer: A

Explanation:

The HyperText Transfer Protocol (HTTP) 502 Bad Gateway server error response code indicates that the server, while acting as a gateway or proxy, received an
invalid response from the upstream server.

https://developer.mozilla.org/en-US/docs/Web/HTTP/Status/502#:~:text=The%20HyperText%20Transfer%20P

NEW QUESTION 190
- (Exam Topic 2)
Which configuration management tool has an agentless capability?

A. Chef

B. Puppet
C. Ansible
D. CFEngine

Answer: C
NEW QUESTION 195

- (Exam Topic 2)
Refer to the exhibit.

API Documentation:
Integrations are how you request permission Lo moke the Webex REST APl on behalf of another Webex
Teams user. To do this in a secure way the APl supports the OAuth 2 standard wiich allows third-party
integrations to get a temporary acceéss Loken for authenticating AP calls instead of asking users for Lher
password
Script
e B v g L
ase url = "hitps: feexapls Iz
] e " - i .L-_'-I
4
- L l_ I -] - J_‘. ¥ - -
T Eint reagulesTy . et ..'.._.. Leafjars=neapasr . BTATUS nfm e

A developer creates a Python script that queries Cisco Webex. When the script is executed, a 401 code is returned. After troubleshooting, the developer discovers
that the service is missing privileges. Which change to the header in line 4 of the script results in the code 200?
A)
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C)

. =

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 197
- (Exam Topic 2)
Drag and drop the code snippets from the bottom to the blanks in the code to test the API response through the Python unittest library. Not all options are used.

none content
status code 200 content type
403 status

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface, text Description automatically generated

NEW QUESTION 202
- (Exam Topic 2)
What is a capability of an agentless configuration management system?

A. It requires managed hosts to have an interpreter for a high-level language such as Python or Ruby.

B. It requires managed hosts to connect to a centralized host to receive updated configurations.

C. It uses compiled languages as the basis of the domain-specific language to interface with managed hosts.
D. It uses existing protocols to interface with the managed host.

Answer: D

NEW QUESTION 207

- (Exam Topic 2)

Which application should be used to externally access all applications deployed in the same host machine with a single public IP address and port, when each

application listens on different local ports?

A. reverse proxy
B. load balancer
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C. DNS
D. firewall

Answer: D

NEW QUESTION 210
- (Exam Topic 2)

A developer needs a list of clients connected to a specific device in a Meraki network. After making a REST API call, the developer receives an unfamiliar

response code. Which Cisco DevNet resource should be used to identify the meaning of the response code?

A. APl documentation
B. Sandbox

C. Learning Labs

D. Code Exchange

Answer: A

NEW QUESTION 212
- (Exam Topic 2)

[ Devices |
Get Device Count

Operation Id: getDeviceCount
Description: Returns the count of network devices based on the filter criteria by
management IP address, mac address, hostname and location name

GET  /dna/intent/api/vl/network-device/count

Request Parameters

Responses

Status: 00
The request was successful The result is contained in the response body.

Schema Definition Example Body

-

response: integel
version: string

Refer to the exhibit. Drag and drop the code snippets from the bottom onto the blanks in the code to construct a request to find the Cisco DNA Center switch count.

Not all options are used.

curl -L —--reguest LY
-- https:///dna/intent/api/vl/network-device/ : \
\
--header ' : application/json' \
--header 'Accept: application/json'
url network count
POST GET Content-Type
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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curl -L --reguest .GET U N,

- ’ url I https:///dna/intent/api/vl/netwoerk-device/ [ count
--header ' | Content-Type |: application/json' \

--header 'Accept: application/json’

[uri | [metwork

|:‘cmunt

| GET |

Content-TypeJ

NEW QUESTION 216
- (Exam Topic 2)
Which protocol runs over TCP port 23?

A. SSH

B. NETCONF
C.HTTP

D. Telnet

Answer: D

NEW QUESTION 218
- (Exam Topic 2)
What is a capability of the NETCONF protocol?

A. allows Python scripts to be executed externally from a network device
B. uses JSON to encode data in its content layer

C. allows XML messages to be exchanged via the SSH protocol

D. exposes a web-based interface

Answer: C

NEW QUESTION 222
- (Exam Topic 2)
What are two functions of a routing table on a network device? (Choose two.)

A. It lists entries more than two hops away.

B. It lists the routes to a particular destination.
C. It lists the routes to drop traffic.

D. It lists hosts that are one hop away.

E. It lists the static and dynamic entries.

Answer: BE
NEW QUESTION 224

- (Exam Topic 2)
Refer to the exhibit.

API vl documentation:

Authentication and authorization: Bearer Token
Inventory endpoint: /api/vl/inventory

Method: GET

Response formats: text/html, application/json,
application/html

Token:
dXNlcm5ShbWU6cGFzc3dvemQ=

Api call:
GET /api/vl/inventory HTTP/1.1
Host: example.com

Response:
HTTP/1.1 401 Unauthorized

An API call is constructed to retrieve the inventory in XML format by using the API. The response to the call is 401 Unauthorized. Which two headers must be
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added to the API call? (Choose two.)

ccept: application/xm.

b

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE
NEW QUESTION 226

- (Exam Topic 2)
Refer to the exhibit.

import requests
from regqueats.auth import HTTPBaaichuth
from dnnc“ccnflq import DHAC, DNAC“PDRT, DNAC USER, DNAE.EASEHGRD

def get_auth_token():
url = 'https://sandboxdnac.cisco.com/dna/ayatem/api/vl/auth/token’
§ API Endpoint: requires POST method

def get device list():
LA {8} LR
Building out function to retrieve list of devices. Usaing requeats.get to make a call
to the network de-vice Endpoint

token = get_auth token{) # Get Token

url = *https://sandboxdnac.cisco.comfapi/vi/network-devicea’

hdr = {'z-auth-token': token, 'content-type' : 'application/j=on')
resp = regquests.get{url, headers=hdr)

device list = reap.json()

print_dewvice_liat (device liat)

if _neame_ == ' main
get device liat()

A developer creates a script to obtain a list of devices by using the Cisco DNA Center API. The remote server authorizes the request only if an authentication token
is supplied in the headers. A function named get_auth_token() must retrieve a valid token by using HTTP Basic Authentication. Which code must be added to
complete the get_auth_token() function?

A. resp = requests.post(url, auth=HTTPBasicAuth(DNAC_USER, DNAC_PASSWORD)) token = resp.json()['Token']Jreturn token
B. resp = requests.post(url, auth=(DNAC_USER, DNAC_PASSWORD)) token = resp.json ()[ Token']return token

C. resp = http.post(url, auth=HTTPBasicAuth(DNAC_USER, DNAC_PASSWORD)) token = resp.json()['Token']return token

D. resp = http.post(url, auth=(DNAC_USER, DNAC_PASSWORD)) token = resp.json()[' Token'Jreturn token

Answer: A

NEW QUESTION 230
- (Exam Topic 2)
What is the purpose of a MAC address on a network device?

A. unique network address that identifies the network interface of a device
B. unigue network interlace address that is provided by the DHCP server
C. unigue hardware address that identifies the network interface of a device
D. unique hardware interface address that is provided by the central switch

Answer: C

NEW QUESTION 234

- (Exam Topic 2)

A developer is trying to retrieve data over a REST API. The API server responds with an HTTP client error response code. After investigating the response the
developer realizes the realizes the response has a

Retry-After header. What is the root cause of this error?
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A. The REST service is unreachable at the time of the REST request

B. Too many requests were sent to the REST service in a given amount of time.
C. An appliance limited the rate of requests to the transport layer.

D. An appliance limited the rate of requests to the application layer

Answer: B

NEW QUESTION 235
- (Exam Topic 2)

A developer creates a web application that receives a username and password and uses them to sync the credentials to other services through HTTPS. API keys
to services are part of the configuration files of the application, but the credentials to the database that stores the synchronization logs are obtained through an

external vault service. What is the security issue in this scenario?

A. Communication between the application and the services is not encrypted.

B. The database credentials should be stored in the configuration files so that they are secured on the same server.

C. The API keys are stored in the configuration files but should be stored in the vault service.
D. The synchronization logs should be encrypted and not stored in a relational database.

Answer: A
NEW QUESTION 240

- (Exam Topic 2)
Refer to the exhibit.

SDK Documentation:
Class: Devices

Device List: get_device list()
Get device: get_device by id(id)
Delete device: delete device by id(id)
Device status: inventoryStatusDetail
Device Parameters:

id

upTime

type

A Python script must delete all Cisco Catayst 9300 Series switches that have an uptime that is greater than 90 days The script must also query for the status of all
the other devices Drag and drop the code from the bottom onto the bottom box the code is missing to complete the script Not at options are used

Answer Area

from dnacentersdk import DNACenterAPI

device type = “Cisco Catalyst 9300 Switch"
api_smesasion = DNACenterAPT (
bass url="httpa://sandboxdnac.cisco.com”,
username="user”,password="pasaword”
)

devices =

for device in devicesa:
if int (device.upTime.split() [0]) > 390:
if device.type == device type:

output =! |
print (output)

elsa:

selected device =

output = | |

print (output)

Ia&l&ctﬂd_dﬂ?icc.r&apanac.in?ﬂntarysnu:unnctuil{d&vic&}I

[api_:e:sion-d=Vic=:-delete_device_by_idEdevice.idl I

Iupi_a&asinn.d&vices.q&t_dE?ice_by_id{device.id]

[:ﬁlscted_device-re:panseﬁinvtntﬂryﬂtatu55=tail I

Inpi"aeasinn.d&vicea.getﬁdE?icewlistti.reapnnan

A. Mastered
B. Not Mastered
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Answer: A

Explanation:
Table Description automatically generated

NEW QUESTION 241
- (Exam Topic 2)
What is a benefit of test-driven development?

A. early customer involvement

B. increased code quality

C. faster releases that have minimal features
D. strict adherence to product requirements

Answer: D
NEW QUESTION 243

- (Exam Topic 2)
Refer to the exhibit.

Development Integration Testing
code
T—
code
code 5 code Blue Blue
code
code

Which infrastructure automation method is shown?

A. Waterfall

B. CI/CD pipeline
C. Agile

D. Lean

Answer: C

NEW QUESTION 247
- (Exam Topic 2)
How do XML and JSON compare regarding functionality?

A. JSON natively supports arrays and XML does not natively support arrays.

B. XML provides support for mapping data structures into host languages than JSON.
C. XML provides more human readability than JSON.

D. JSON provides support for data types than XML.

Answer: A

NEW QUESTION 248
- (Exam Topic 2)

P

GET getNetworkHttpServe
https://api.meraki.com/api/v0/networks/:networkId/httpServers

¥ o
e

List the HTTP servers for a network

AUTHORIZATION

API Key

This regquest is using an authorization helper from collection Meraki Dashboard
API
HEADERS
Acce

W ‘I,I" *

T

P

Refer to the exhibit. A developer is creating a Python script to obtain a list of HTTP servers on a network named office_east by using the Cisco Meraki API. The
request has these requirements:
» Must time out if the response is not received within 2 seconds.
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» Must utilize client certificates and SSL certificate verification.

» Must utilize basic authentication that uses a username of admin and a password of cisco.

» Must save the response to an object named response.

Drag and drop the code snippets from the bottom onto the blanks in the code to meet the requirements. Not all options are used.

import regquests
from reguests.auth import HTTPBasicAuth
network = 'office east’
url = 'https://api.meraki.com/api/v0/networks/{}/httpServers' . .format (network)
[ | = reguests.get (url=url, headars={ "Accept': "*/*'},
verify="/ete/pki/tls/certs/ca.pem’,
Limeﬁut=| i
| =("'/ete/pki/tls/certs/client.pem’,
'Jfete/pkiftls/certa/client.key'),
auth=s | | (*admin', ‘'cisco'})
responsa.status code
token | | response 2
HTTPTokenhAuth H HTTFBasichuth | cert
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Text Description automatically generated
Reference:

https://community.cisco.com/t5/networking-blogs/authenticating-rest-api-calls-to-dnac-getting-started/ba-p/3658

NEW QUESTION 253
- (Exam Topic 2)
What is the purpose of the first three pairs of digits in a MAC address?

A. defines a routing identifier for the client

B. indicates the IP address of the client in Hex

C. defines packet forwarding priority sent or received by the adapter
D. indicates vendor of the network card or adapter

Answer: D

NEW QUESTION 256
- (Exam Topic 2)
What are two benefits of model-driven programmability?

. model-driven APIs for abstraction and simplification

. single choice of transport, protocol, and encoding

. model-based, structured, and human friendly

. easier to design, deploy, and manage APIs

. models decoupled from transport, protocol, and encoding

moQoOw>»

Answer: DE

NEW QUESTION 260
- (Exam Topic 2)
What are two use cause where webhooks are effective? (Choose two.)

A. Close a session with a web server after a specific amount of time.

B. Filter out information from a response to an API call

C. Change the response format or content type of an API call.

D. Inform a previously defined chat channel after a deployment fate.

E. Send an email to a customer of an online store after payment is complete

Answer: DE
NEW QUESTION 265
- (Exam Topic 2)

A developer is creating a script to interact with a REST API service which requires basic authentication. The credentials are "devnet:391665405" and the Base64
encoding of the credentials is "GV2bmVOdXNIcjpDaXNj=". Which payload and header combination must be used for authentication?
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paylocad = {

‘Authorization’

‘Content-Type'
}
headers= {}
B
payload = {)
headers= |{

‘Buthorization’

‘Content-Type’

payload = {

‘Authorization’

‘Content-Type’
!
headers= {}
0
payload = {}
headers= |{

‘BAuthorization’

‘Content-Type'

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

‘Basic GVZbmVOdXNlcipDaXxXNi=",

‘application/json’

‘Basic GV2bmVOdXNlcjipDaXNj=’,

‘application/json’

‘Bearer GV2bmVOdXNlcipDaXNi=',

‘application/json’

‘Bearer GVZ2bmV0dXNlcjpDaXNj=’,

‘application/json’

https://developer.cisco.com/docs/epnm/#!how-to-authenticate/authorization

NEW QUESTION 266
- (Exam Topic 2)

Drag and drop the code from the bottom onto the box where the code is missing in the Bash script to complete the missing assignment.

#! /bin/bash

=‘date +%b-%d-%y’
=/home/usr/path/backup-SBACKUPTIME.tar.gz
=/home/usr/path/data folder

tar —-cpzf SDESTINATION $SOURCEFOLDER

BACKUPTIME SOURCEFDLDER‘ |DESTINHTIDN

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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#!/bin/bash

BACKUPTIME =‘date +%b-%d-%y’

DESTINATION | =/home/usr/path/backup-$SBACKUPTIME.tar.gz

SOURCEFOLDER| =/home/usr/path/data folder

tar —-cpzf SDESTINATION S$SOURCEFOLDER

BACKUPTIME SOURCEFOLDER‘ ‘DESTINATION

NEW QUESTION 269
- (Exam Topic 2)
Refer to the exhibit.

user_manager.py
1 import psycopg2
import json, =ays

2

3

4 # Load config file

5 config = None

6 with open('config.json') as config_file:
7 config = json.loadiconfig file)

B if not config:

25 has admin role ("ops.shared")

config.json
1 | .
2 “DE_USER“: "pguser",
3 "DB_PWD": "El23Qweri%4",
4 "DB_HOST": "devnetdb.example.com"
2}

9 print ("Error loading configuration file.")
10 sys.exit (1)
11
12 connection = pasycopg?.connect (
13 database="usera", .
14 host=config["DB_USER"], user=config["DB_USER"], password=config["DB_FWD"]
15 )
lé6 connection.set session()
17
18 def has_admin_role (username) :
149 with connection.cursor() as cursor:
20 guery = 'SELECT admin role FROM users WHERE username = {0}°'
21 cursnr.execute{query.fcrmat{uaername}}
22 result = cursor.fetchone()
23 return result
24

An engineer must check the admin rights of users on a database regularly and prepares the Python script to automate the process. The script connects to the

database and runs a query. What is a security issue about the secrets in the code that relates to secret protection?

A. They must be stored in configuration files if there is a possibility of leakage.
B. They must be Base64-encoded if stored in the user database.

C. They must be encrypted if stored in the user database.

D. They must be stored in configuration files if no authentication will be used.

Answer: D

NEW QUESTION 270
- (Exam Topic 2)
In the test-driven development model, what is changed after a test fails?

A. test

B. schedule

C. project requirements
D. code

Answer: D
Explanation:

Reference:
https://www.guru99.com/test-driven-development.html#:~:text=In%20simple%20terms%2C%20test%20cases,c
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NEW QUESTION 271
- (Exam Topic 2)
Refer to the exhibit.

# base image

FROM alpine

# Install python and pip
RUN apk add --update pyZ-pip

# Install python modules needed by the python app
COPY reguirements.txt /usr/src/app/
RUN pip install --no-cache-dir -r /usr/src/app/requirements.txt

#copy local files for the app to run
COPY app.py /usr/src/app/
COPY templates/index.html /usr/src/app/templates/

EXPOSE 8080

#run the application
CMD ([“python”, “/usr/src/app/app.py”]

Which function does the EXPOSE line perform when building an image from this Dockerfile?

A. Local port 8080 of the container that launched with this docker image is accessible from co-hosted containers and external clients.

B. Local port 8080 is not reachable at all because no IP address is specified along with the EXPOSE command of the Dockerfile.

C. Local port 8080 is accessible from other containers running on the same docker host as the container that launched with this docker image.
D. Local port 8080 of the container that launched with this docker image is accessible to external clients.

Answer: C

Explanation:

By default, the EXPOSE instruction does not expose the container’s ports to be accessible from the host. In other words, it only makes the stated ports available
for inter-container interaction.

Whereas publishing a port using either -P or -p exposes it, exposing a port using EXPOSE or —expose does not publish it.

So, while exposed ports can only be accessed internally, published ports can be accessible by external containers and services.
https://www.whitesourcesoftware.com/free-developer-tools/blog/docker-expose-port/

NEW QUESTION 273

- (Exam Topic 2)

A developer creates a script that configured multiple Cisco 10S XE devices in a corporate infrastructure. The internal test environment is unavailable, and no
maintenance window is available to test on a low-priority production environment. Which resource is used to test the code before it is applied to the production
environment?

A. Code Exchange

B. Cisco DevNet Learning Labs
C. Cisco DevNet Sandbox

D. Cisco Support

Answer: C

Explanation:
Reference: https://developer.cisco.com/site/sandbox/

NEW QUESTION 278
- (Exam Topic 2)
Which tool is used to block all traffic to the domain by using a single API call?

A. Cisco ISE

B. Cisco Firepower
C. Cisco AMP

D. Cisco Umbrella

Answer: B

NEW QUESTION 281
- (Exam Topic 2)
Drag and drop the code snippets from the bottom to the blanks in the code to complete the HTTP response. Not all options are used.
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Request URL: hrttp://www.eXxample.com/

[_ _ - | : GET

| : : 200 OK

Remote Address: [2e06:2B00:220:1:248:1893:25c8:19446]:80

Referrer Policy: strict-origin-when-cross-origin
Response Headersview 3ource

Accept-Ranges: bytes

Age: 396361

Cache-Control: max-age=604800

[ | : gzip

Content-Length: 645

| | : taxt/html: charset=UTF-8

Date: Sat, 20 Nov 2020 20:45:34 GMT

Etag: "3147526%47+ident"

Expirea: Sat, 21 Nov 2020 20:49%:34 GMT
Last-Modified: Thu, 17 Oct 201% 07:18:2¢ GMT
Server: ECS (dna/G3AR)

Vary: Accept—Eucading

X=Cache: HIT

Fegquest Headersview scurce
Accept: text/html,application/xhtml4+xml,applicacion/xml;q=0.9,
image/avif, image/webp, image/apng, */*;1g=0.8, application/signed-exchange;v=bi;g=0.9
Accept-Encoding: gzip, deflate
Accept-Language: en-US,en;qg=0.8

| Requﬁﬂ,t T:F’I-HF F.E':_[UE'B': Control i

| |
[ status code | [ Content-Type |
| |

I Regquest Method Content Code I

Content=-Encoding

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Graphical user interface, text, application Description automatically generated

NEW QUESTION 285
- (Exam Topic 2)
How does a synchronous API request differ from an asynchronous API request?

A. clients receive responses with a task id for further processing
B. clients subscribe to a webhook for operation results

C. clients are able to access the results immediately

D. clients poll for the status of the execution of operations

Answer: C

NEW QUESTION 288
- (Exam Topic 2)
Refer to the exhibit.
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List Messages Lo L - 8

Liats ol messeges in a room. Each message will nclude content
sftachrments i present

The kst sorts the messages n descending order by creabion date it Respenes
Long resuit sets will be wpiit into peges ——

fvi/massages R0/ webexapis. com/v /messages TroomlasY 2y
2% GFyarovL IVEL 1 JPTOOVY I WIxYWOINDNmMMS
DrYUAL T NDotZEOYmilwY rRAMTUOR paren o «Y 21z

Query Parsmeter

Y29rcGFyazovl IVALOTFUITNBROUVIWM 1 2Tz ZJAtN2
roonld RAMSOxMWUSLTg 2NTgtZ The Y tNIODZiZmFmmaentio
e e nedPeople vY212Y292¢GF yazovi. 3VaL 1BFT 1BMRS8yN

Ll mesiages i & room, by 1D =
DimirRkOS 1k YjhhLTO2 Y 2EODE2 Y104 NALZ DIOMGEF N

TMEDbe ome2016-04-21T19:01:55. 96678 belorohlas
parentld sano =Y 2UY297cGFyaaovl 3VILO T FU TNBROUVOTJKY)
= NIZTAINDNIZCOXMWU2LThAZ TIEZGQ 1 YJNKZmM TNV
kK&mmans 100

Lzt messages with a parend, by ID

A developer needs to automatically retrieve all of the messages of a Webex room with the roomld of

HY2I12Y292cGFyazovL3Vz397748444YjUSNJAINTkOZIJOXMWVhLTKOM]". Using the Webex APl documentation shown, drag and drop the code snippets from

below onto the code to complete the Python script to list all of the messages in the room. Not all options are used.

imTor™ reguUests
eD® toxen 3 "HDA-OG fl=§f 19-ab36-B4feag 4 70lA"
I @ 1d "TaaztadzcoOr? = AERTEOSL ¥R LTrOMY ™
arl ThtEps eDexapid.com/ vVa =" -
AYLoagD B
eaders =
Authori=zati Beaczer . [
res 3@ = eguests.reguent ["GETT ard headers=Readers dATAa ¥ pav.ocad
aIEE Te8E 5 ESxE - 18 L
Fq_.u-_'r. | o= & I'
I 1 |l gl } |
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Graphical user interface Description automatically generated with medium confidence

NEW QUESTION 291
- (Exam Topic 2)
What are two benefits of using VLANs? (Choose two.)

A. limits the devices that can join the network

B. segments the broadcast domain

C. extends the broadcast domain

D. allows all network devices to be accessible from any host on the network

E. enables the logical grouping of devices that belong to different Layer 2 devices

Answer: BE

NEW QUESTION 296
- (Exam Topic 2)
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closs Native.Interface.FastEthernet

Bases: Entity | flowcontrol
Class Hierarchy: Native Interface FastEthernet
This class represents configuration data.

pattern: * |

Configure flow operation
type: Flowcontrol

FastEthernet IEEE 802.3

| name(key) | isis
type: str IS-IS commands
pattern: ([0-9]/)([0-91/)((1-3][0-9]|4[0-8]|[0-9])(\[0-9] +)? type: Isis

I description | keepalive
Interface specific description Enable keepalive
type: str type: bool

keepalive settings

type: KeepaliveSettings

Refer to the exhibit. Drag and drop the code snippets from the bottom to the blanks in the code to enable keepalive for the FastEthernet 2/0 interface. Not all

options are used.

from ydk.aservicesa import CRUDService

from ydk.providers import NetconfServiceProvider a=s nec

from ydk.models.cisco ios xe import Cisco IOS XE native as model

ip = '10.10.20.48"

prtcl = "szsh'

user = ‘developer’

paw = 'PRAISWOrD!

port = B30

provider = ncl{addresa=ip, port=port, username=user, pasawcord=psw, protocol=prtcl)
crud = CRUDService ()

| |

interface.name = '2/0°

if interface data:

print {"Keepalive is enabled.")
elaa:

print ("Eeepalive is not enabled.')

interface data = crud.update(provider, interface)

interface data = crud.read(provider, interface) |

interface = model .Native.Interface.FastEthernet ()

|interface.keepalive = True |

interface,.FastEthernet.keepalive settings.keepalive = True |

interface = model.Mative.Interface ()

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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from ydk.services import CRUDService

from ydk.providers import NetconfServiceProvider as nc

from ydk.models.cisco ios xe import Cisco I03 XE native as model
ip = '10.10.20.48"

prtcl = ‘ash'

user = ‘dewveloper’
paw = ‘PasSWOrD’
port = 830

provider = nc{addresa=ip, port=port, username=user, pasawordepsw, protocol=prtcl)
crud = CRUDService()

:1ntorface = model . Native.Interface.FastEthernet ()

interface.name = '2/0°

[:nterface.keepalive = True

|int@rface_datn = crud.read(provider, interface)

if interface data:

print ("Keepalive iz enabled.')
elaa:

print ("Keepalive iz not enabled.')

interface data = crud.update(provider, interface)

|interfute.Ea:tEthernet.keepnliVe“:Etting:.kEEpﬂlive = True J

]interface = model.Native.Interface() l

NEW QUESTION 298
- (Exam Topic 2)
Why is refactoring done during test-driven development?

A. to enable larger objects and longer methods

B. to improve maintainability and readability

C. to ensure that the previous uses of the objects are explained
D. to ensure the duplication of essential code

Answer: B
NEW QUESTION 303

- (Exam Topic 2)
Refer to the exhibit.

FROM nginx

ARG DELAY="30"
ENV INITIAL DELAY=S${DELAY)

ENTRYPOINT ["/bin/sh"]

CMD ["-c", "/bin/sleep ${INITIAL DELAY} && nginx -g
‘daemon off;"'"]

Which command, including arguments, is executed when the container starts?

A. /bin/sh -c "/bin/sleep 30 && nginx -g 'daemon off;™
B. /bin/sh -c "/bin/sleep 10 && nginx -g 'daemon off;"
C. /bin/bash -c "/bin/sleep 30 && nginx -g 'daemon off;"
D. /bin/sh -c "/bin/sleep 30" && nginx -g 'daemon off;'

Answer: A

NEW QUESTION 307
- (Exam Topic 2)
Which HTTP response status code means “Forbidden”?

A. 500
B. 401
C. 403
D. 502

Answer: C
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Explanation:
Reference: https://developer.mozilla.org/en-US/docs/Web/HTTP/Status/403

NEW QUESTION 310
- (Exam Topic 2)
Refer to the exhibit.

Traceback (most recent call last):

File “<stdin>"”, line 1, in <module>
NameError: name ‘requests’ is not defined
-

>>> response_data = requests.get (base_url + request_url, cookies=cookies)

A Python code has been written to query a device. The executed code results in the error shown. Which action resolves the problem?

A. import json

B. requests("GET", base_url + request_url, cookles=cookies)
C. pip install requests

D. import requests

Answer: D

NEW QUESTION 315
- (Exam Topic 2)
What is used in JSON to represent a Python Tuple?

A. Object

B. Array

C. Dict

D. Collection

Answer: B

NEW QUESTION 317
- (Exam Topic 2)
How are load balancers used in modern application deployment?

A. Allow traffic to continue as new compute units are brought up and old compute units are taken down.

B. Allow http and https traffic to continue as old compute units are discontinued before new units are brought up.
C. Turn off traffic and take down compute units, then update and bring the compute units back up.

D. Bring up new compute units, test the compute units, and switch the traffic from old units to new units.

Answer: D

NEW QUESTION 318
- (Exam Topic 2)
What is a difference between a synchronous API and an asynchronous API?

A. An asynchronous API can make offline calls while synchronous APIs do not have this capability.

B. Synchronous API calls are returned immediately while asynchronous calls do not guarantee an immediate response.

C. Synchronous API calls require an authentication header to be sent while asynchronous calls do not require authentication.
D. An asynchronous API can make a larger number of calls in a specified time period than a synchronous API.

Answer: B

Explanation:
Reference:
https://stackoverflow.com/questions/36213948/what-is-the-difference-between-asynchronous-calls-and-callback

NEW QUESTION 322
- (Exam Topic 2)
Refer to the exhibit.

¢ @ http://example.com/index.php?user= <script>alert(l want to pass the DevNet Associate Exam.)</script>

This is not a secure web page. -
This page says

| want to pass the DevNet Associate Exam,

%

OWASP threat does this example demonstrate?

A. Broken access control
B. SQL injection
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C. Man-in-the-middle
D. Cross-site-scripting

Answer: D

NEW QUESTION 326
- (Exam Topic 2)
Refer to the exhibit.

module jetf-ip { module ietf-interfaces {
namespace "urn:ietf:params:xml:ns:yang:ietf-ip™; namespace “urn:ietf:params:xml:ns:yang:ietf-
prefix ip: interfaces”;
import ietf-interfaces { prefix if;
prefix if; typedef interface-ref {
} type leafref {
augment “Sif:interfaces/if:interface” { path “/if:interfaces/if:interface/if: name";
coentainer ipva { ¥
leat enabled { ¥
type boolean; contaliner interfaces {
default true; list interface {
¥ key “name”;
list address { leaf name {
key “ip*; type string;
leaf ip { }
type inet:ipvd4-address-no-zone; leaf description {
type string;
choice subnet { }
mandatory true; leaf type {
leaf prefix-length { type identityref {
type wintg { base interface-type;
range "“@..32"; ¥
} mandatory true;
} }
leaf netmask { leaf enabled {
type yang:dotted-quad; type boolean;
default "true";
} }
} }
} }
} }
}

Which JSON snippet configures a new interface according to YANG model?
A)
“jetf-interfaces:interface": {
“name”: “Loopbackl@g”,
“enabled”: true,
“ietf-ip:ipvd®: {
“address™: [
1
“ip": “1@.255.254.1",
“netmask: *255.255.255.@"

17

¥

B)

“jetf-interfaces”: {

interface™: {

“name”: “LoopbacklBg”,
“enabled”: true,
“jetf-ip”: {

ipvd®: {
“address”: [
{

“ip¥: *10.255.254.1",
“netmask”: “255.255.255.9”
71517
¥

C)
“ interface™ {

“name: “Loopbacklag",
“enabled”: true,

“ipuvd”: {
“address™: [
{

®ip*: *18.255.254.1*,
“netmask™: *255.255.255.8”

I

D)
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“jetf-interfaces:interface™: {
“name: “Loopbackl@g”,
“enabled”: true,
“jetf-ip:ipvd:address™: |

{
“ip¥: *18.255.254.1",
“netmask™: “255.255.255.8"

5y ]

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 328

- (Exam Topic 2)
Refer to the exhibit.

$ zh script.sh
Traceback (most recent call last):
File "script.py",; line 2, in <module>
api = WebexTeamsAPI ()
File "/opt/.venv/pyvenvis/lib/python3.5/site-packages/webexteamssdk/api/ init_ .py", line 112,
in _ inlt
"¥ou must provide a Webex Teams access token to interact with ®
webexteamssdk.exceptions.AccesaTokenError: You muat provide a Webex Teams access token to interact
with the Webex Teams APIs, either via a WEBEX TEAMSE ACCESS TOKEN environment variable or via the
access token argument.
=
3
£ cat script.sh
§!/bin/bash

python script.py
5

Which line must be included in the Bash script for the Python code to succeed?

A. define WEBEX_TEAMS_ACCESS_ TOKEN=your_access_token_here
B. export WEBEX_TEAMS_ ACCESS_ TOKEN=your_access_token_here
C. set WEBEX_TEAMS_ACCESS_TOKEN=your_access_token_here

D. WEBEX_TEAMS_ACCESS_TOKEN=your_access_token_here

Answer: B

NEW QUESTION 330

- (Exam Topic 2)

A file that already exists in a local repository is updated. Which command must be executed to ensure that the changes in the file are included in the next Git
commit?

A. git update
B. git merge
C. gitadd

D. git rebase

Answer: A

NEW QUESTION 334
- (Exam Topic 2)
What are two key capabilities of Cisco Finesse? (Choose two.)

A. Finesse includes an RPC API that enables the development of custom gadgets.

B. Agents access Finesse from a browser without needing to install or configure anything on the client machine.
C. Finesse automatically collects telemetry data

D. An OpenDNS utility is preconfigured and ready to use on Finesse.

E. Gadget containers provide a seamless experience in a single user interface.

Answer: BE

NEW QUESTION 339
- (Exam Topic 1)
Fill in the blanks to complete the Python script to update the Webex Teams membership of a room using the Python requests library import requests
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A. Mastered
B. Not Mastered

Answer: A
Explanation:

request, headers , payload

NEW QUESTION 340
- (Exam Topic 1)
Refer to the exhibit.

List Messages

Lists all messages in a room. Each message will include content
attachments if present.

The list sorts the messages in descending order by creation date.

Lang result sets will be split into

- fvi/messages|iroomld, mantionedPecple, bafore baforaMassage ||

|
fvl/sassages
Header
Authorization
Query Parameters

raomld BE&rer FEAFA NN R RN AN

LIST FraEsiaghes 1y & rOsDim, Ly 1D

*33 fake is hiokden for o

mantisnedPosple

L& i

before
- <
List meessages sent before a date and time wentionedfesple
beforaMessage
List meessages send befone 3 metsage, by B0 basforaMansaga
=1 %
Lirmi® the maximoam nombser of ITHESRERES Ehe
PO
Default: 50
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bash-3.2§ curl -H “"Content-Type: application/json” -H "Authorization:
Fj2zzzykEa091ic9GK2j8LtE1HK1EKIH60REPQAWlPat 601 TndtEENWzL2bSpgMgl4Kk BIEIS9isacLyT-
NarA02n9H-tGgt-SxQ39iDejges” -i -X POST -d “{ \"roomId\":
\"¥2geR535)EknosrC75wQ5ZGLI9pEgiuScBTDINVUsrBXx4wDFLiPORCEK YANMIOmRILOZSPOGE\ "

, \"text\”: \"test2\” )" https://api.ciscospark.com/vl/messages

HTTP/1.1 401 Unauthorized

via: 1.1 linkerd

TrackingID: RGUTER_EEG FDCEC-EBGF-01BB-00EF-B0GBF1EDOOEF

Date: sat, 04 Jan 2020 00:30:04 GMT

Server: Redacted

Content-Length: 267

Content-Type: application/json

Strict-Transport-Security: max-age=63072000; includeSubDomains; preload

{"message’”:"The request requires a valid access token set in the Authorization request

header.”,“errors”: [{“description”:"The request requires a valid access token set in the
Authorization request

header.”}],“trackingId”:“ROUTER SEQOFDCBC-EB6F-01BE-0OEF-B06BF1EDOOEF"}

bash-3.25

A developer is troubleshooting an API with the given API with the given APl documentation and cURL command. What is the cause of this problem?

A. The user is not allowed to post massages from their account
B. The request body is missing or incomplete

C. The API token specified is expired

D. The authorization header is missing or incomplete

Answer: C
NEW QUESTION 344

- (Exam Topic 2)
Refer to the exhibit.

POST - https://webexapis.com/vl/teams

Params Authorization Headers (9) Bodye Pre-request Script Tests Settings
Headers 8 hidden

KEY VALUE DESCRIPTION -
B Authorization Bearer OTVINDESZGOINDc5YIDOMwZGELZGINDYNzdh_PF84_consumer
Key Value Description
Bodye 1 {
"team": "cisco"
|
‘Emﬂ Cookies Headers (9) Test Results & Status: 400 Bad Regest Time: 173 ms  Size: 514 B

Pretty Raw Preview Visualize jSON -
{

"message™ "The request could not be understood by the server due to malformed syntax.”,
"errors™: |

"description™; "The request could not be understood by the server due to malformed syntax.”

I,
“trackingld”: "ROUTER_SFEACEQZ-90AE-01BB-6DE-ACI 2DF566D6E"
¥ }

A developer wants to create a room named cisco through Webex API. The developer prepares the request by putting an API token inside the authorization header;

however, the given HTTP call returns error code 400. How must the call parameters be changed to ensure a valid response?

A. Replace the team body parameter with the name body parameter.
B. Replace cisco with a valid name for a team.

C. Change the token in the header with the authorization token.

D. Change the HTTP method of the call to PUT.

Answer: A

NEW QUESTION 346
- (Exam Topic 2)
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Which data is specified in the response header?

A. {"id": "y123987jdkl". HTTP/1.1 200 OK"status: "online", "type": "switch"}
B. HTTP/1.1 200 OK

C. "type", "switch"

D. Content-Type

Answer: B
NEW QUESTION 347

- (Exam Topic 1)
Refer to the exhibit.

For CLI commands that support XML, the clid() method returns JSON cutput. An exception is thrown when XML is not
used. Executes CLI commands. Takes CLI command string and returns show command output in a JSON form.

[}

Note: The “ciid” API can be useful when searching the ouvtput of show commands using SSON tools as shown in the example,

PYTHON

Arguments:

* cmd: Single CLI command or a batch of CLI commands. Delimeter for multiple CLI commands
is a space followed by a semicolon. Configuration commands must be in a fully qualified form.

Returns:

 string: JSON-formatted output of show commands.

>>> from cli import *
>>> import json

> >
>>> cli(‘configure terminal ; interface loopback 5 ; no shut’)

v

>>> intflist=json.loads(clid(‘show interface brief’))
>>> 1=0
>>> while i < len (intflist['TABLE interface’]['ROW_interface’]):
“ o intf=intflist[‘'TABLE interface’]['ROW interface’][1]
. i=i+l
" e 1f intf[‘state’] = ‘up’:
print intf[‘interface’]
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The python interpreter and the Cisco python SDK are available by default in the Cisco NX-OS software. The SDK documentation shows how the cild() API can be
used when working with working with JSON and XML. What are two effect of running the script? (Choose two.)

A. configure interlace loopback 5

B. issue shutdown on interface loopback 5

C. show only the interfaces In the up status

D. show only the interfaces in admin shut status
E. show details for the TABLE interface

Answer: AC
Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/7-x/programmability/guide/b_Cisco_

NEW QUESTION 352
- (Exam Topic 1)
What are two advantages of version control software? (Choose two.)

A. It supports tracking and comparison of changes in binary formate files.

B. It allows old versions of packaged applications to be hosted on the Internet
C. It provides wiki collaboration software for documentation.

D. It supports comparisons between revisions of source code files.

E. It allows new team members to access the current code and history.

Answer: DE

NEW QUESTION 357
- (Exam Topic 1)
Which device is a system that monitors and controls incoming and outgoing network traffic based on predetermined security rules?

A. Switch

B. Router

C. Firewall

D. Load balancer

Answer: C

NEW QUESTION 358
- (Exam Topic 1)
Which HTTP status Code means that the server cannot or will not process the request because of perceived client error?

A. 100
B. 203
C. 303
D. 400

Answer: D

NEW QUESTION 362
- (Exam Topic 1)
Which API is used to obtain data voicemail ports?

A. Finesse gadgets

B. Cisco Unified Communications manager
C. Webex devices

D. Webex teams

Answer: B
Explanation:

Cisco Unified Communications Manager (CUCM) provides API access to data management, call management, and voicemail integration. Source: Cisco DevNet
Fundamental Course: https://developer.cisco.com/certification/fundamentals/

NEW QUESTION 363

- (Exam Topic 1)

What is used in Layer 2 switches to direct packet transmission to the intended recipient?
A. spanning tree

B. IPv4 address

C. IPv6 address

D. MAC address

Answer: D

NEW QUESTION 367

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-901 dumps
@ 2passeasy Sipra g

https://www.2passeasy.com/dumps/200-901/ (406 New Questions)

- (Exam Topic 1)
What are two benefit of managing network configuration via APIs? (Choose two.)

A. configuration on devices becomes less complex

B. more security due to locking out manual device configuration

C. increased scalability and consistency of network changes

D. eliminates the need of legacy management protocols like SNMP
E. reduction in network changes performed manually

Answer: CE
NEW QUESTION 368

- (Exam Topic 1)
Refer to the exhibit.

module ex-ethernet (
namespace “http://example.com/Ethernet”;
prefix “eth";
import ietf-interfaces {
prafix if:
]
augment “/if:interfaces/if:interface” |
when "if:type = ‘ethernetCsmacd’";
container ethernet (
must ../ fif:location” {
description

}
choice transmission-params {
case auto |
leaf auto-negotiate |
type empty;
}
)
case manual |
leaf duplex {
type enumeration |
enum *“half”;
enum “full®;
]
}
leaf spead |
type enumeration
enum "10ML";
anum "“100Mb";
enum “1Gb*";
enum “10G6b";

I
}
} // other ethernet specific params...
]
}

“An Ethernet interface must specify the physical location of the ethernet hardware.”;

What is represented in this YANG module?

A. interface management
B. topology

C.BGP

D. OpenFlow

Answer: A

NEW QUESTION 371
- (Exam Topic 1)
Refer to the exhibit.
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1 ——

2 - hosts: {{ router }}

3 gather facts: true

4 connection: local

5

E Vv tasks:

S - ios command

i Y commands :

9 - show run

10 provider: “{{ router credentials }}”
11 register: config

12

13 - copy:

14 content: “{{ config.stdout[0] }}”
15 dest: “etc/ansible/configs/command {{ router hostname }}.txt
16 -

What is the effect of this Ansible playbook on an IOS router?

A. A new running configuration is pushed to the IOS router.

B. The current running configuration of the 10S router is backed up.

C. The start-up configuration of the 10S router is copied to a local folder.
D. A new start-up configuration is copied to the 10S router.

Answer: B

NEW QUESTION 372
- (Exam Topic 1)
Refer to the exhibit.

An administrator attempts to perform a GET using the Cisco IOS XE RESTOCNF API to return the hostname of a device. The sequence diagram illustrated the
HTTP message observed. Which change to the API request resolves the issue?

A. Add Content-Type HTTP header with 'application/yang-data+json’ using —H ‘Content-Type: application/yang-data+json’.
B. Use -u cisco: cisco instead of -u ‘cisco: cisco'.

C. Change the request method from -X "GET” to- X' POST".

D. Remove the -H 'Accept: application/yang-data”/son’ HTTP header because it is not required.

Answer: B

NEW QUESTION 375
- (Exam Topic 1)
In which situation would an edge computing solution be used?

A. where low latency is needed

B. where high CPU throughput is needed
C. where fast memory is needed

D. where high disk space is needed

Answer: A

NEW QUESTION 379

- (Exam Topic 1)

What are two characteristics of Bare Metal environments that are related to application deployment? (Choose two.)
A. Provide the hypervisor to host virtual servers

B. Specifically designed for container-based workloads.
C. Provides workloads with access to hardware features
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D. Suitable for legacy application that do not support virtualization
E. Not compatible with other cloud services such as PaaS or SaaS offerings.

Answer: CD

NEW QUESTION 384
- (Exam Topic 1)
Drag and drop the functionalities from the left onto correct networking devices on the right.

ports are different broadcast " i
domain by default irewa

ports can be in the same \oud Kalsnicat

broadcast domain
uses traffic inspection to make R
routing decisions et
blocks networks traffic by default Switch

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-D,2-C,3-A,4-B
Reference: https://geek-university.com/ccna/broadcast-domain-explained/

NEW QUESTION 387
- (Exam Topic 1)
Refer to the exhibit.
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"WP’E'": "fruit"‘,
“items”: [
{

“color”:"”green”,
“items™: [
Fl’kiwijj
“grape”

“color”: “red”,

“items”: [
“strawberry”,
Happleu

]
}s

{
"'type”: "Uegs”,
ﬁitemsu ‘ [

{

“items”: [
“lettuce”

“color”: “red”,
“items”: [
I:I!pepper.i.l

Iicﬂlnr‘.‘!: {igreen.‘!“

A REST API retune this JSON output for a GET HTTP request, Which has assigned to a variable called “vegetables” Using python, which output is the result of

this command?

:
print | ter (1ambda ]

A. Lettuce

B. Kiwi

C. ['kiwi’, ‘grape’]

D. {‘color’: ‘green’, ‘items’: ['kiwi’, ‘grape’]

Answer: B

NEW QUESTION 389
- (Exam Topic 1)

Before which process is code review performed when version control is used?

A. committing code
B. branching code
C. merge of code
D. checkout of code

Answer: C
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NEW QUESTION 394
- (Exam Topic 1)
Which CI/CD tool is an automation tool used to build, test, and deploy software?

A. Nagios

B. Gradle

C. Jenkins
D. Git

Answer: C

Explanation:
Reference:
https://www.infoworld.com/article/3271126/what-is-cicd-continuous-integration-and-continuous-delivery-expla

NEW QUESTION 396
- (Exam Topic 1)
Refer to the exhibit.

§ diff -ub fish.py cat.py

=== fish.py 2020-01-02 09:41:02.840000000 +0100
+++ cat.py 2020-01-02 09:41:06.8859999800 +0100
@@ -160,11 +160,12 @@

@single request timeout.setter
def single request timeout(self, wvalue):
“““The_timeﬂut_(secunds] for a single HTTP REST API request, ”7#
check type(value, int, optional=True)
- assert value is None or value > 0
+ if value is not None and value <= 0:
+ raise ValueError (“single request timecut must be positive integer”)
self. single request timeout = value

fproperty
def wai t_on_rate_limit (self)
“W“Automatic rate-limit handling.

The output of a unified diff when comparing two versions of a python script is shown. Which two “single_request _timeout ()"

A file: cat.py
160
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request.”””
164 check_type(value, int, optional=True)
165 assert value is None or value > @
166 if value is not None and value <= @:
167 raise UalueErrw::r{“single_r‘equest_timeaut must be PDSi‘l’i‘U’E integer”}
168 self._single_request_timeout = value
169
B.
file: fish.py
160
16l
162 def (self, value):
163 "“The timeout (seconds) for a single HTTP REST API request.”"”
164 check_type(value, int, optional=True)
165 assert value is None or value »> @
166 self._single_request_timeout = value
167
C.
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file: cat.py
160
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request."""
164 check_type(value, int, optional=True)
165 if value is not None and value <= @:
166 raise ValueError(“single_request_timeout must be positive integer”)
167 self._single_request_timeout = value
168
165
D.
file: fish.py
180
161
162 def (self, value):
163 “““The timeout (seconds) for a single HTTP REST API request."”””
164 check_type(value, int, optional=True)
165 self._single_request_timeout = value
E.
file: cat.py
172
173
174 def (self, value):
175 “““The timeout (seconds) for a single HTTP REST API request.™"”
176 check_type(value, int, optional=True)
177 if value is not None and value <= 0:
178 raise ValueError(“single_request_timeout must be positive integer”)
179 self. single_request_timeout = value
180
F. Option A
G. Option B
H. Option C
I. Option D
J. Option E
Answer: BC

NEW QUESTION 400
- (Exam Topic 1)
Refer to Exhibit.

<books>
<science>
<biology>10.00</biology>
<geology>9.00</geology>
<chemistry>8.00</chemistry>
</science>
<math>
<calculus>20.00</calculus>
<algebra>12.00</algebra>
</math>
</books>

Which JSON is equivalent to the XML-encoded data.

A)
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{

}

—_— () =

B)
[

“books”: |

“science”: ({
“biology”: “10.007,
“geulngy": “9.09",
“chemistry”: “8.00”

},

wmath’: {
“calculus”: “20.007,
“algebra”: “12.00”

}

{
“books”: ({

“science”: {
“biology”: “10.007,
“geulng‘y" = W9 007 ;
“chemistry”: “8.00”

by

“Iﬂﬂt-h" . {

“wcalculus”: “20.007,
“algebra”: “12.00”

}

}
1
“books”: [

“science”, {

“biology”: “10.007,
“geology”: “9.007,
“chemistry”: “8.00”
} s
'l.'\ma th” ’ {
“calculus”: “20.007,
“algebra”: “12.00”
}
1
“books”: [

“Wscience”: {
“biology”: “10.007,
“geology”: “9.007,
“chemistry”: “8.00”

},

“math" - {

“calculus”: “20.00”,
“algebra”: “12.00”
}
]
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 405
- (Exam Topic 1)
Which response status code is used by a RESTful interface to indicate successful execution of a request?

A. 200
B. 404
C. 405
D. 500

Answer: A

NEW QUESTION 406
- (Exam Topic 1)
How does requesting a synchronous API operation differ from requesting an asynchronous API operation?

A. clients poll for the status of the execution of operations

B. clients subscribe to a webhook for operation results

C. clients can access the results immediately

D. clients receive responses with a task id for further processing

Answer: C

NEW QUESTION 408
- (Exam Topic 1)
What are two security benefits of a Docker-based application?

A. easier to patch because Docker containers include only dependencies that the application requires

B. prevents information leakage that can occur when unhandled exceptions are returned in HTTP responses
C. allows for separation of application that traditionally run in the same host

D. natively secures access to secrets that are used by the running application

E. guarantees container images are secured and free of vulnerabilities

Answer: AC

NEW QUESTION 410
- (Exam Topic 1)
What is an example of a network interface hardware address?

A. domain name

B. IP address

C. workstation name
D. MAC address

Answer: D

NEW QUESTION 414
- (Exam Topic 1)
Which two statements are true about Cisco UCS manager, Cisco Intersight APIs? (Choose two.)

A. Cisco Intersight API interactions can be encoded in XML or JSON and require an APIs key in the HTTP header for authentication.

B. USC Director API interactions can be XML- or JSON-encoded and require an APLs key in the HTTP header for authentication.

C. UCS manager APl interactions are XML-encoded and require a cookie in the method for authentication.

D. Cisco Intersight uses XML to encoded API interactions and requires an API key pair for authentication.

E. UCS manager uses JSON to encode API interactions and utilizes Base64-encoded credentials in the HTTP header for authentication.

Answer: BC

Explanation:

Reference:
https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/ucs-director/rest-api-getting-started-guide/6-5/cis
https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/sw/api/b_ucs_api_book.pdf

NEW QUESTION 416
- (Exam Topic 1)
Refer to the exhibit.
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URL: https://<ASA_IP>/api/access/global/rules
Method: POST
Payload:

{

“destinationAddress’”: |
wkind”: “IPv4Address”,
“walue”: “10.1.1.1”

}e

“remarks”: [ 1,

“active”: true

“permit”: true,

“sourceAddress”: {
“kind”: “IPFv4Address”,
“Walue”: “192.168.1.1"

Response Status Code: 400 Bad Request

{“messages”:[{“level”:"Error”,"code”:"JSON-PARSE-ERROR", "details”:"
Unexpected character ("\" (code 34)):

What caused the error in this API request?

A. The API resource does not support the POST operation
B. The API resource does not support JSON format payloads.

C. The submitted JSON payload includes a field that is not supported by the API resource.

D. The submitted JSON payload has a formatting issue

Answer: D

NEW QUESTION 418
- (Exam Topic 1)

The project is migrated to a new codebase, the “old_project” directory must be deleted. The directory has multiple read-only files, and it must be deleted

recursively without prompting for confirmation. Which bash command must be used?

A. rm -rf old_project
B. rm -r old_project
C. rmdir -p old_project
D. rmdir old_project

Answer: A

NEW QUESTION 422
- (Exam Topic 1)

What operation is performed with YANG model-driven programmability in NX-OS?

A. configure a device with native and OpenConfig-based models

B. send CLI commands to a device and retrieve output in JSON format
C. run Linux commands natively on the device

D. bootstrap a device that has a factory-default configuration

Answer: A

Explanation:
Reference:

https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-series-switches/white-paper-c11-74151

NEW QUESTION 425
- (Exam Topic 1)
Which description of a default gateway if true?

A. Itis a device that receives IP packets that have no explicit next-hop in the routing table.

B. It is a feature that translates between public and private addresses.
C. Itis a security feature that denies certain traffic.

D. It is a device that receives Layer 2 frames with an unknown destination address.

Answer: A

Explanation:
Refe
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https://www.certificationkits.com/cisco-certification/ccna-articles/cisco-ccna-intro-to-routing-basics/cisco-ccna

NEW QUESTION 429
- (Exam Topic 1)
Which two statements about JSON and XML are true? (Choose two.)

A. JSON objects are collection of key value pair.

B. The syntax of JSON contains tags, elements, and attributes.
C. JSON arrays are an unordered set of key value pairs.

D. The syntax of XML contains tags, elements, and attributes.
E. XML objects are collections of key-value pairs.

Answer: AD

NEW QUESTION 432
- (Exam Topic 1)
Which device is used to transport traffic from one broadcast domain to another broadcast domain?

A. load balancer
B. layer 2 switch
C. router

D. proxy server

Answer: C

NEW QUESTION 436
- (Exam Topic 1)
Which type of HTTP method is used by the Meraki nad webex teams APIs to send webhook notifications?

A.HTTP GET
B. HTTP PUT
C. HTTP HEAD
D. HTTP POST

Answer: D

Explanation:
Reference: https://meraki.cisco.com/blog/tag/alerts/

NEW QUESTION 438
- (Exam Topic 1)
Which principle is a value from the manifesto for Agile software development?

A. adhering to a plan over responding to requirements
B. detailed documentation over working software

C. processes and tools over teams and inter actions
D. customer collaboration over contract negotiation

Answer: D

Explanation:
Reference: https://www.cisco.com/c/dam/global/en_hk/solutions/collaboration/files/agile_product_development.pdf

NEW QUESTION 443
- (Exam Topic 1)
Refer to the exhibit.

#!/bin/bash

read ndir

while [ -d “$ndir” ]
do

cd $ndir

done

mkdir $ndir

What is the action of the Bash script that is shown?

A. The script waits until input is entere

B. If the directory exists, the script goes into it until there is no directory with the same name, then it creates a new directory.

C. The script goes into the directory called “$ndir” and makes a new directory called “$ndir”

D. The script waits unit input is entered, then it goes into the directory entered and creates a new directory with the same name.
E. For all directories in the current folde

F. The script goes into directory and makes a new directory.

Answer: A

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-901 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/200-901/ (406 New Questions)

NEW QUESTION 445
- (Exam Topic 1)
Which two query types does a client make to a DNS server? (Choose Two)

A. AAAA

B. ACK

C. DISCOVER
D. Inverse

E. PTR

Answer: AE
NEW QUESTION 447

- (Exam Topic 1)
Refer to the exhibit.

URL: https://<ASA_IP>/api/access/global/rules
Method: POST
Payload:

{

wdestinationAddress”: |{
“kind”: “IPv4Address”,
“yalua”: “10.1.1.1"

},

“remarks”: [ 1,

“active”: true

“permit”: true,

“sourceAddress”: |
“kind”: “IPv4Address"™,
Y“walue®: “192.168.1.1"

Response Status Code: 400 Bad Request

{“messages”:[{“level”:"Error”,”"code”:"ISON-PARSE-ERROR", "details”:
“Unexpected character (\"’ (code 34)):

What caused the error in this API request?

A. The API resource does not support the POST operation.

B. The API resource does not support JSON format payloads.

C. The submitted JSON payload includes a field that is not supported by the API resources.
D. The submitted JSON payload has a formatting issue.

Answer: D

NEW QUESTION 450
- (Exam Topic 1)
Which status code is used by a REST API to indicate that the submitted payload is incorrect?

A. A.-400B.403C.405D.429
Answer: A

Explanation:
Reference:
https://community.cisco.com/t5/application-centric/apic-rest-api-produces-inconsistent-response/td-p/2758230

NEW QUESTION 453
- (Exam Topic 1)
What is a tenet of test-driven development?

A. write documentation for tests

B. write tests after adding new blocks of code
C. write and run tests before writing new code
D. run tests after writing new code

Answer: C

NEW QUESTION 454
- (Exam Topic 1)
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Which two elements are foundational principles of DevOps? (Choose two.)

A. designing applications as microservices

B. encouraging containers for the deployment of applications
C. organizing cross-functional teams over organizational silos
D. optimizing the cost of infrastructures

E. automating over documenting

Answer: CE

NEW QUESTION 458
- (Exam Topic 1)
Which two types of NAT are used in a network? (Choose two.)

A. Static NAT

B. Normal NAT
C. Multicast NAT
D. Dynamic NAT
E. Router NAT

Answer: AD

Explanation:
Reference: https://www.dummies.com/programming/networking/cisco/types-of-network-address-translation/

NEW QUESTION 461
- (Exam Topic 1)
Which Cisco DevNet resource allows access to products in a development lab to explore, learn, and build application that use Cisco APLs?

A. DevNet communities

B. DevNet code Exchange

C. DevNet Automation Exchange
D. DevNet sandbox

Answer: D

Explanation:
Reference: https://developer.cisco.com/site/sandbox/

NEW QUESTION 463

- (Exam Topic 1)

An application calls a REST API and expects a result set of more than 550 records, but each time the call is made, only 25 are returned. Which feature limits the
amount of data that is returned by the API?

A. pagination

B. payload limit

C. rate limiting

D. service timeouts

Answer: A

NEW QUESTION 468
- (Exam Topic 1)
Which type of threat occur when an attacker can send hostile data to an interpreter within an application?

A. Cross-site scripting

B. Sensitive data exposure
C. Broken authentication
D. Injection

Answer: D
Explanation:

Reference: https://owasp.org/www-project-top-ten/fOWASP_Top_Ten_2017/Top_10-2017_Al-Injection

NEW QUESTION 473
- (Exam Topic 1)
When a Cisco 10S XE networking device is configured using RESTCONF, what is the default data-encoding method?

A. XML

B. x-form-encoding
C. YANG

D. YAML

Answer: A
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NEW QUESTION 474
- (Exam Topic 1)
Which two encoding formats do YANG interfaces support?

A. JSON

B. XML

C. XHTML
D. Plain text
E. BER

Answer: AB

Explanation:
Reference:
https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/prog/configuration/171/b_171_ programmability_cg/model_d

NEW QUESTION 475
- (Exam Topic 1)
Drag and drop the Python code from the left onto the correct step on the right to call a REST API.

Step 1 — Import the correct libraries.

Step 2 - Declare the necessary variable.

Step 3 — Send the HTTP Request.

Step 4 — Format and display the response in

Step 5 — Parse the response to display the
Service Ticket.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 477
- (Exam Topic 1)
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Drag and drop the descriptions from the left onto correct application deployment models on the right.

provides a low-latency compute capability close to
the data source

environment where you pay only for the resources
that you consume

offers a self-service, elastic compute environment
from a dedicated set of physical resources

Public Cloud

provides an approach for overflow traffic
to burst out to meet peak demands

Private Cloud

shared compute platform that is offered
over the Internet

A. Mastered
B. Not Mastered

Answer: A
Explanation:

1-B,2-E3-C,4-D,5-A

NEW QUESTION 479
- (Exam Topic 1)
Which detail is included in a routing table?

A. IP protocol

B. Broadcast address

C. TCP or UDP port number

D. Destination next hop or outgoing interface

Answer: D

Explanation:

Reference: https://geek-university.com/ccna/routing-table-explained/

NEW QUESTION 484
- (Exam Topic 1)
What is the purpose of the Cisco VIRL software tool?

A. To verify configurations against compliance standards
B. To simulate and model networks

C. To automate API workflows

D. To test performance of an application

Answer: B
Explanation:

Reference: https://www.speaknetworks.com/cisco-virl-better-gns3/

NEW QUESTION 488
- (Exam Topic 1)
Which is an advantage of using network programmability?

A. It removes CLI access for devices.

B. It provides for more scalable and replicable network provisioning.

C. Manual configuration is faster.
D. No cloud abstraction occurs.

Answer: B

NEW QUESTION 491
- (Exam Topic 1)
On which port does NETCONF operate by default?
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Answer: D

NEW QUESTION 492
- (Exam Topic 1)
Which platform is run directly using a hypervisor?

A. Virtual

B. Bare metal systems
C. Containers

D. Applications

Answer: C

NEW QUESTION 494
- (Exam Topic 1)

Which mechanism is used to consume a RESTful API design when large amounts of data are returned?

A. Data sets
B. Scrolling
C. Blobs

D. Pagination

Answer: D

Explanation:

Reference: https://nordicapis.com/everything-you-need-to-know-about-api-pagination/

NEW QUESTION 499
- (Exam Topic 1)

A developer is reviewing a code that was written by a colleague. It runs fine, but there are many lines of code to do a seemingly simple task repeatedly. Which

action organizes the code?

A. Refactor the code by removing any unnecessary tests

B. Using functions, rewrite any pieces of code that are repeated
C. Reverse engineer and rewrite the code logic

D. Modify the code to use loops

Answer: B

NEW QUESTION 500
- (Exam Topic 1)
Refer to the exhibit.

json _string = 777
{
“researcher”: {
“name”: “Ford Perfect”,
“species’: “Betelgeusian”,
“relatives”: [

{

“name’”: “Zaphod Beeblebrox”,
“species’’: “Betelgeusian”

}

Frrerer

my Jjson = json.loads (json string)
Which python data structure does my_json contain?
A. List
B. Json
C. Map
D. Dict

Answer: D
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Explanation:
Reference:
https://stackoverflow.com/questions/34764979/loading-python-string-with-u-as-json?noredirect=1&Ig=1

NEW QUESTION 505
- (Exam Topic 1)
Which line is an example of the start of a chunk from a unified diff?

A. @@ -90,88 +20191008T1349@ @

B. @@ -20191007T1200 +88,90 @@

C. @@ -20191007T1200 +20191008T1349@ @
D. @@ -88,10 +88,6 @@

Answer: D

Explanation:
Reference:
https://unix.stackexchange.com/questions/252927/what-do-the-numbers-in-the-line-mean-in-output-of-diff

NEW QUESTION 509
- (Exam Topic 1)
Refer to the exhibit.

- hosts: switch2960cx
gather facts: no

tasks:
- ios_lz_interface:
name: GigabitEthernet0/1

state: unconfigured

- 1os 12 interface:
name: GigabitEthernet0/1
mode: trunk
native vlan: 1
trunk allowed vlans: 6-8
state: present

- los_vlan:
vlian id: 6
name: guest-vlan
interfaces:
- GigabitEthernet0/2
- GigabitEthernet0/3

- ios_vlan:
vlian id: 7

name: corporate-vlan
interfaces:

- GigabitEthernet0/4

- los_vlan:
vlian id: 8
name: iot-vlan
interfaces:
- GigabitEthernet0/5

Which two statement describe the configuration of the Ansible script is run? (Choose two.)
A. Traffic on port 0/2 and 0/3 is connected to port 0/6.

B. Traffic from ports 0/2 to 0/5 can flow on port 0/1 due to the trunk.

C. Traffic can flow between ports 0/2 to 0/5 due to the trunk on port 0/1.

D. GigabitEthernet0/2 and GigabitEthernet0/3 are access ports for VLAN 6.

E. GiabitEthernet0/1 is left unconfigured.

Answer: BD

NEW QUESTION 514

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-901 dumps

@ 2 P asseqQs U https://www.2passeasy.com/dumps/200-901/ (406 New Questions)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 200-901 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/200-901/ (406 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 200-901 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
200-901 Product From:

https:/lwww.2passeasy.com/dumps/200-901/

Money Back Guarantee

200-901 Practice Exam Features:

* 200-901 Questions and Answers Updated Frequently
* 200-901 Practice Questions Verified by Expert Senior Certified Staff
* 200-901 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* 200-901 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

